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Topic:- CDP_P2_CTET

V) Which of the following is a part of the domain of emotional development ?
(1) Interpersonal Skills

(2) Attention and Memory

(3) Functioning of Body System

(4) Perceptual and Motor Capacities
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[Question ID = 1][Question Description = S10_CDP_Q001]
1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2) Which factors determine and influence development of children ?
(i) Heredity
(i) Physical environment

(ii1) Socio-cultural factors

(1) (i) and (i)
(2) (i) and (i)
(3) (i) and (ii
(4) (i) (i) and (ii

A § FRH =l & o & Fuiia g gafaq = €2

(i) SR

(i) «itfaes amTeRT

(i) HHITSR-HEh i HH
(1) (i) S (i)

(2) (i) R (i)

(3) (i) AR (i)

(4) (i), (i) S (iii)



[Question ID = 2][Question Description = S10_CDP_Q002]
1. 1 [Option ID = 5]

2. 2 [Option ID = 6]

3. 3 [Option ID = 7]

4. 4 [Option ID = 8]

3)

Assertion (A) : Motor co-ordination of children is not important for learning at the school.

Reason (R) : Learning and development are independent of each other.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.

(4) Both (A) and (R) are false.
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1[Q:J([e;ti:n Illg =9?;][Question Description = S10_CDP_Q003]

2. 2 [Option D = 10]

3. 3 [Option ID = 11]
4. 4 [Option ID = 12]

4)

What is the role of family and peers in the development and socialization of children in middle
school ?

(1) Both have no role.

(2) Family does not have any role; peers have a significant role.
(3) Peers do not have any role; family has a significant role.
(4) Both have important though different roles.
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[Question ID = 4][Question Description = S10_CDP_Q004]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]
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3. 3 [Option ID = 15]

4. 4 [Option ID = 16]

5)
A student is able to interpret the logic of a verbal statement without questioning the validity of the
statement in reality. According to Piaget at which stage of cognitive development is the student ?

(1) Formal operational stage

(2) Pre-operational stage
(3) Concrete-operational stage
(4) Sensori-motor stage
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1[Q1u¢[acs)titgn ||[D> =157}[Question Description = S10_CDP_Q005]
2. 2 [Option ID = 18]

3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

®  As per Jean Piaget, children’s thinking is that of adults.
(1) Qualitatively different from

(2) Quantitively different from
(3) Inferior than
(4) Superior than
St Tt & SR, s=1 i Hid a7=hi eIl 2 |
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(3) | HH
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[Question ID = 6][Question Description = S10_CDP_Q006]
1. 1 [Option ID = 21]
2. 2 [Option ID = 22]
3. 3 [Option ID = 23]
4. 4 [Option ID = 24]

7)



At which stage of Kohlberg’s moral development do individuals believe that rules should involve
mutual agreements and the rights of the individual should be protected ?

(1) Imstrumental purpose orientation

(2) Punishment and obedience orientation
(3) Social contract orientation

(4) Good boy-good girl orientation
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1[Q1u¢[acs)titgn ||[D> =275}[Question Description = S10_CDP_Q007]
2. 2 [Option ID = 26]

3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

8)

In his theory Lev Vygotsky proposed that learning is a process of co-construction of
knowledge.
(1) Behaviouristic
(2) Socio-cultural
(3) Information-processing
(4) Psycho-dynamic
EEEZHIGEIR| g & geataa fohan o die 9@ & we fFmion =t 9w 2
(1) =F=RrEr
(2) wmfSIF AiEhfdF
(3) HE &k THER
(4) wAfERI
[Question ID = 8][Question Description = S10_CDP_Q008]
1. 1 [Option ID = 29]

2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

) An important classroom implication of Lev Vygotsky’s theory is that :

(1)  Children should be expected to discover things completely on their own.

(2) Children should be rewarded appropriately to increase desirable behaviour.
(3) Children should be punished to decrease undesirable behaviour.

(4) Children should be guided and assisted in their learning.
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[Question ID = 9][Question Description = S10_CDP_Q009]

1. 1 [Option ID = 33]

2. 2 [Option ID = 34]

3. 3 [Option ID = 35]

4. 4 [Option ID = 36]

10)
Roma helps Jaspreet solve a crossword puzzle by giving prompts and cues gradually reducing her
support as Jaspreet becomes better at it. This is an example of :

(1) Scaffolding

(2) Observational Learning
(3) Multiple Intelligence
(4)

4 Cognitive conflict
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1[Q:.|?;tit?n |I|; =317 (])][Question Description = S10_CDP_Q010]
2. 2 [option D - 38]

3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11)

Assertion (A) : Ina progressive classroom the teacher should be diadactic and keep the children
in control by maintaining ‘pin-drop’ silence.

Reason (R) : Children learn only when teachers exercise total control over them.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.
(4) Both (A) and (R) are false.
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1[Q1u¢[acs).[t)it?or:] ||[D> =411 ;][Question Description = S10_CDP_Q011]

2. 2 [Option 1D - 42

3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12)

Individuals with are able to make connections based on their prior knowledge and
are drawn to categorization, patterning, and relationships between ideas.

(1) Logico-mathematical intelligence

(2) Bodily-kinaesthetic intelligence
(3) Interpersonal intelligence
(4) Linguistic intelligence
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[Question ID = 12][Question Description = S10_CDP_Q012]
1. 1 [Option ID = 45]

2. 2 [Option ID = 46]

3. 3 [Option ID = 47]

4. 4 [Option ID = 48]

13)

A teacher’s remark in a co-education class to boys, “Be brave and don’t behave weakly like girls”
would encourage :

(1) gender equity

(2) gender stereotyping
(3) gender role flexibility
(4) gender equality
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1[Q:.|?;tit?n |I|; =419 ]3][Question Description = S10_CDP_Q013]
2. 2 [Option ID = 50]

3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14)

Which of the following are key characteristics of Continuous and Comprehensive Evaluation ?
(i) It's primary objective is to segregate and label childrens.

(i) It provides opportunities for teachers to reflect on their pedagogy.

(iii) It incorporates assessment as a part of learning.

(iv) It helps to promote learning by inducing fear and anxiety.

(1) (i) and (ii)

(2) (i), (iii) and (iv)

(3) (i) and (iii)

(4) (1) (i), (i) and (iv)
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(3) (i) ¥R (i)

(4) (i), (i), (iii) 3R (iv)

[Question ID = 14][Question Description = S10_CDP_Q014]
1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

15)



Which of the following questions promotes critical thinking rather than mere recall of
information ?

(1)
(2)
(3)
(4)

In which year was the last census held ?

Where was Mahatma Gandhi born ?

Who was the first President of India ?

How can democratic ideals be promoted in a society ?
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[Question ID = 15][Question Description = S10_CDP_Q015]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

16)

For successful inclusion of students belonging to disadvantaged groups the teachers should :

1)

(

(2)
(3)
(4)

N

include aspects of their culture through various activities.

discourage them to take part in cultural activities and ask them to focus on studies.
encourage them to take part in cultural activities but not on studies.

gently ask the parents to enroll children in home tuitions.
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[Question ID = 16][Question Description = S10_CDP_Q016]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]
3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

17)

A key pedagogical strategy to ensure inclusive education is :
(1) Collaboration

(
(
(

2
B

=

) Segregation
) Negative discrimination
) Labelling



wHTerRt v =i wHE faersitE 1o o § 7

(1)
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[Question ID = 17][Question Description = S10_CDP_Q017]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18)

A teacher should support inclusion of students belonging to disadvantaged groups by :

(1

D

H=
T e S S

(
(
(

creating a classroom ethos where differences are accepted and every child is valued.
identifying children’s academic abilities and always group children of same ability together.
segregation of children groups based on their caste.

promoting them to reproduce textbook knowledge even if it is meaningless to them.
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[Question ID = 18][Question Description = S10_CDP_Q018]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19)

A child’s intelligence test score shows that she is above average, she is regular and active in class.
Her mathematics grades and writing skill is good but when given the task of reading loudly her
performance is poor, the child is likely to have :

(1)
(2)
(3)
(4)

Dysgraphia
Dyscalculia
Dyslexia
Autism
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[Question ID = 19][Question Description = $10_CDP_Q019]
1. 1 [Option ID = 73]

2. 2 [Option ID = 74]
3. 3 [Option ID = 75]
4. 4 [Option ID = 76]
20) What is creativity ?
(1) Ability to repetitively perform an action without being bored.
(2) Ability to rote memorize long passages.
(3) Ability to think divergently.
(4) Ability to copy and imitate others as it is.

N
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(1) o =@ & foret =/ 1 a9’ F HI &Ea
(2) T TEAT Tl & I AT

(3)  STIEM S | "= Hl &l

(4) oI Y et ST T F F LHAT
1[Q1u¢[a;ti9n |I|; =727§)][Question Description = S10_CDP_Q020]

2. 2 [Option ID - 78]

3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21) How is learning looked at in a socio-constructivist perspective ?
(1) As active and social in character.

(2) The process of passive acquisition of knowledge.
(3) Relatively permanent change in behavior.
(4) Conditioning between the stimulus and response.
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[Question ID = 21][Question Description = S10_CDP_Q021]
1. 1 [Option ID = 81]
2. 2 [Option ID = 82]
3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

22) is an example of intristic motivation.

(1) Studying to get first prize.
(2) Learning to satisfy curiosity.
(3) Completing work to get appreciation.
(4) Coming first to get a bicycle.
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[Question ID = 22][Question Description = S10_CDP_Q022]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]
3. 3 [Option ID = 87]
4. 4[Option ID = 88]
23)
Assertion (A) : Effective teaching includes forming positive relationships with students and giving
importance to their emotional needs.
Reason (R) : Emotions and learning are inter-related.
Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)is true but (R) is false.

(4) Both (A) and (R) are false.
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[Question ID = 23][Question Description = S10_CDP_Q023]

1. 1 [Option ID = 89]
2. 2 [Option ID = 90]



3. 3 [Option ID = 91]
4. 4 [Option ID = 92]
24) Mastery oriented learners :
(i)  Set learning goals.
(i) Believe that ability is stable and permanent.
(iii) Set very easy or no goals.
(iv) Seek help and support to facilitate their learning.

(1) (i) and (i)
(2) (i) and (ii)
(3) (i) and (iv)
(4) (i) and (iv)
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[Question ID = 24][Question Description = S10_CDP_Q024]
1. 1 [Option ID = 93]
2. 2 [Option ID = 94]
3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

2%)  Questioning by children :
(1) Should be ignored.

(2) Should be punished.
(3) Should not be allowed.
(4) Should be encouraged.
o= o gl W e ¢
(1) =Rl TsREIES & FfET
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[Question ID = 25][Question Description = S10_CDP_Q025]



1. 1 [Option ID = 97]
2. 2 [Option ID = 98]
3.

4. 4 [Option ID = 100]

3 [Option ID = 99]

26) Students learn effectively when the teacher :

(1) does not have any expectations from them.

has very low expectations from them.

WD

(
(
(

)
) doesnot give any autonomy to the students.
)

N

focuses on the processes of inquiry through discovery learning.
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[Question ID = 26][Question Description = S10_CDP_Q026]

1.
2.
3.
4.

1 [Option ID = 101]
2 [Option ID = 102]
3 [Option ID = 103]
4 [Option ID = 104]

27)

During the teaching-learning process, children are constantly encouraged by the teacher to create
new knowledge through exploration, games, and various practical activities. This is an example
of :

(i) A progressive classroom in which children have the opportunity to learn by doing and their
active participation.

(ii) A traditional classroom in which there is active participation of teacher rather than students
in the teaching-learning process.

(iii) A classroom in which the teacher focuses on child-centered methods of learning rather than
textbook knowledge.

(iv) A progressive classroom where the students are expected to be passive recipients of knowledge.

(1) (), (ii)
(2) (1), (i)
(3) (i), (iv)
(4) (i), (iv)
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[Question ID = 27][Question Description = S10_CDP_Q027]
1. 1 [Option ID = 105]

2. 2 [Option ID = 106]

3. 3 [Option ID = 107]

4. 4 [Option ID = 108]

28)

Assertion (A) : While teaching diverse group of learners a teacher should not have any discussion
regarding the social and cultural context of students.

Reason (R) : Social and cultural contexts do not play any role in learning,
Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.
(4) Both (A) and (R) are false.
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1['Q:.|¢E:;;it?or:] |I|; ==1%)§]][Question Description = S10_CDP_Q028]
2. 2 [Option ID = 110]

3. 3 [Option ID = 111]
4. 4 [Option ID = 112]



29) To facilitate deeper long lasting understanding amongst the students a teacher should :
(1) Focus on memorisation of concepts.

(2) Use the methods of direct instruction.
(3) Make provisions for materials to facilitate learning by doing,.
(4) Make verbal presentations and discourage questioning by children.
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1[Q1l1t[a;titgn |Ir; =121§]][Question Description = S10_CDP_Q029]

2. 2 [Option ID = 114]

3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

2

30)

Using diverse physical learning materials helps the children to make progression in learning concepts
in the sequence of :

(1) concrete to abstract

(2) unfamiliar to familiar

(3) higher-order to lower-order
(4) complex to simple
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[Question ID = 30][Question Description = S10_CDP_Q030]
1. 1 [Option ID = 117]

2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- MATH_P2_CTET
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3) 14
4 15

e T T .

8 -3

3
%,?ﬁ2p+1’ﬁﬁ‘[qﬁ%:

5

=[] -

(1) 10
2) 11
(3) 14
4 15

[Question ID = 31][Question Description = S10_Maths Content/Pedagogy_Q031]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

2)

Four different bells ring at intervals of 6 seconds, 8 seconds, 12 seconds and 18 seconds,
respectively. If these bells ring together at 9 : 00 am, then at what time will they ring
together again ?

(1) 9:00:48 am

(2) 9:01:12am
(3) 9:01:24am
(4) 9:02:06am

=R fum-fae =5feal 991 6 Gahve, 8 g, 12 Hehve 3 18 HHUe & FHauel W It &1 afe
3 sifeal TF WA 9 : 00 am TR TS €, 0 9 TA: TH WM R guy W s ?
(1) 9:00:48 am
(2) 9:01:12am
(3) 9:01:24 am
(4) 9:02:06am
[Question ID = 32][Question Description = S10_Maths Content/Pedagogy_Q032]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]

3. 3 [Option ID = 127]
4. 4 [Option ID = 128]



3)
2. .01 5

443 _—+= .

The value of 7 18" g is

463

Nk

(D 819
563

p fhatiad

(2) 819

463
® 7319

4 563
(4) 819

2 11 5
Rl e ;
- gaﬂm?%.

y 88
(1) 819

793
819
163
7_
®) %19
4563
819

[Question ID = 33][Question Description = S10_Maths Content/Pedagogy_Q033]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

4)I_f
BA
X 6
A7 8

where A and B are digits, then :
(1) A=8,B=4

(2) A=3,B=6
(3) A=3,B=7
(4) A=8,B=6



B A

X 6
A7 8
%, Sl A SIRB & €, Al
(1) A=8, B=4
(2) A=3,B=6
(3) A=3,B=7

(4 A=8,B=6

[Question ID = 34][Question Description = S10_Maths Content/Pedagogy_Q034]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

®) Which digit will come at the ones place in the expression

(21467 + 31250 + 14205 + 60596)° ?
(1) 4
2) 8
(3) 2
(4) 6

FSh (21467 + 31250 + 14205 + 60596)3 H TS 1 ik &1 BAM 2

(1) 4
(2 8
3) 2
4) 6

[Question ID = 35][Question Description = S10_Maths Content/Pedagogy_Q035]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]
3. 3 [Option ID = 139]
4. 4 [Option ID = 140]

® I 0.25(4y—3)=0.05(10y —9), then the value (7y—5) is :

(1) 1.2
) -1.2
3) 08
(4 -0.8



Afg 0.25(4y —3) =0.05(10y —9) ¥, @ (7y —5) F1 AF & :

(1) 1.2
@) -1.2
(3) 08

4 -08

[Question ID = 36][Question Description = S10_Maths Content/Pedagogy_Q036]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

7 232 3,2 )
¥ —xy:Ly- TYZH2X s equal to :
X2y
(1)  (r—y@2x—3y+z)
(2x—3y+z)
@ Ty
('2x+3y—z)

O i)
(9 (x+1y)(2x+3y—2z)

2x2 —xy—3y P +yz+zx
Y = s AL B
-y
() (—y)Rx—3y+z)

; (2x—3y_+z)

2) (x=y)
(2x+3y—2)

(3) (x+y)

(4) (x+y)2x+3y-—2z)

[Question ID = 37][Question Description = S10_Maths Content/Pedagogy_Q037]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

8)



1
The simple interest on a certain sum for 2‘2— years at 12% per annum is T 600 less than the

1
simple interest on the same sum for 45 years at 8% per annum. Then, the sum is :

(1) ¥ 20,000
(2) % 16,000
(3) 10,000
(4) T 8,000

Tordt st T 12% affs S g | Z%aﬁaﬁrmwmam RIS TR 8% ANfeh &t g1 9

2 oY o IR &475 ¥ 2600 FH T TR HAURE

2
(1) ¥ 20,000
(2) % 16,000
(3) % 10,000
(4) % 8,000

[Question ID = 38][Question Description = S10_Maths Content/Pedagogy_Q038]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]
3. 3 [Option ID = 151]
4. 4 [Option ID = 152]

9)
1 1

I_fx2+y2=106 and x—y =4, then the value of ; - ; ig
T
G
, 16
@ -z
g
® =

4
o



1 ) X
AR a2+ y2=106 T TAMx—y=4, % @ T ;Wﬂﬁ% :
, 18
1) 4
) 16
@ 5
o A
(‘- ) 45
4 B 4
8 —5
[Question ID = 39][Question Description = S10_Maths Content/Pedagogy_Q039]
1. 1 [Option ID = 153]

2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

10 : ;
b1t product of expressions px? and ga® is equal to 1248, then :

(1) p+g=12 and a+b=38
(2) pgq=12 and ab=8

(3) pq=12and a+b=8
(4) pt+tg=12and ab=8

7fg Sl pad S qub 1 HAES 1228 F e §,
(1) ptq=12FddMa+b=8 %I

2) pq=12% dMab=8 T

(3) pgq=12%aMa+b=8T|

4) pt+gq=12T AT ab=8 3|

[Question ID = 40][Question Description = S10_Maths Content/Pedagogy_Q040]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

11)

The side QR of a triangle POR is produced to a point S. If QR=PR and ZQPR=50°, then
the value of 3 ZPRS—2 ZPQR is :

(1)  300°
(2) 250°
(3) 200°
(4) 150°



fordt 191 PQR #t =1 QR &1 feig S @ sigrn st €1 If QR=PR 3 ZQPR=50° ¥,
3 /PRS—2 /PQR &I HH & :

(1) 300°
(2) 250°
(3) 200°
4) 150°

[Question ID = 41][Question Description = S10_Maths Content/Pedagogy_Q041]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]
3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

12)

The number of faces, vertices and edges of a polyhedron are respectively 20, x and 30.
Then, the value of 4x—5 1is :

(1) 52
(2) 48
(3) 43
(4) 42

ferdll SIgheteh! & Wetehl, 38T 3R Rl =1 Heand %A 20,1 AR30 ) 99, 4x—5H A E

(1) 52
(2) 48
(3) 43
(4) 42

[Question ID = 42][Question Description = S10_Maths Content/Pedagogy_Q042]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

13)

The sum of the two alternate interior angles formed by the intersection of two parallel
lines by a transversal is 140°. If one of the alternate interior angles is y, then the value of

3y—15°is :
(1) 185°

(2) 195°
(3) 205°
@) 210°



2 ggit ¥@isdi o1 U fodes Y@ gr ufaese i 9 99 §1 Uehiad 3d: =07 o1 Ir1 140° 1 3fg
gﬂﬁﬁ@wm El-ﬁ“Iy%,?ﬁ?»y—lS""EﬁlﬂW%:

(1) 185°
(2) 195°
(3) 205°
@) 210°

[Question ID = 43][Question Description = S10_Maths Content/Pedagogy_Q043]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]
3. 3 [Option ID = 171]
4. 4 [Option ID = 172]

4 Angles of quadrilateral ABCD are such that ZA: ZB: ZC: ZDis4:5:6:3. Then,

(1) ABCD is a trapezium with AD||BC

(2) ABCD is a trapezium with AB||CD
(3) ABCD is a kite with AB=AD and BC=CD
(4) ABCD is a kite with AB=BC and AD=CD

Torelt =Iqst ABCD & 191 39 WhR & T ZA : /B: ZC: /D=4:5:6:3 8119,
(1) ABCD # ¥9aid &, fses AD|BC 1
(2) ABCD U% H9aid &, f5rad AB|CD 21
(3) ABCD T a7 &, f9d AB=AD 3R BC=CD %I
(4) ABCD U& a7 &, fsi9H AB=BC 3R AD=CD %I
[Question ID = 44][Question Description = S10_Maths Content/Pedagogy_Q044]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]

3. 3 [Option ID = 175]
4. 4 [Option ID = 176]

15)

Points A and D are on the same side of line segment BC such that ZABC=90°, ZDCB =90°
and AB=DC. Then,

(1) AABC = ADBC, by RHS
(2) AABC = ADBC, by SAS
(3) AABC = ADCB, by RHS
(4) AABC = ADCB, by SAS



fdg A 9fR D Y@mEe BC % TH & @R 39 yoR feoa § fF ZABC=90°, ZDCB=90° i
AB=DC g1 4§,

(1) AABC = ADBC, RHS 5/

(2) AABC = ADBC, SAS g/

(3) AABC = ADCB, RHS §RI

(4) AABC = ADCB, SAS &Rl

[Question ID = 45][Question Description = S10_Maths Content/Pedagogy_Q045]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]
3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

16)

The sum of the areas of a square of side 12 cm and a rectangle of length 18 cm is 252 cm?,
Then, perimeter of the rectangle is :

(1) 24 cm
(2) 36 cm
(3) 42cm
(4) 48 cm

ST 12 cm 9161 TH a1 q91 18 cm e el Teh ARG o &Thell 1 AR 252 cm2 &1 09, 39
ST o1 9T &

(1) 24 cm
(2) 36 cm
(3) 42cm
(4) 48 cm

[Question ID = 46][Question Description = S10_Maths Content/Pedagogy_Q046]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]
3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

17)

In a trapezium ABCD with ABHDC, AD=18 cm, BC=16 cm and CD =22 ecm. If the
distance between AB and CD is 12 cm and the area of the trapezium is 252 cm?, then the
perimeter of the trapezium is :

(1) 84 cm
(2) 80cm
(3) 76 cm
(4) 72cm



gl Tmeis ABCD #; AB||[DC, AD=18 cm, BC =16 cm 3R CD=22 cm ¥ 3f¢ AB &R CD
F 9 1 g 12 cm § TU1 39 FHG@T 1 STEA 252 cm?2 €, @1 39 FHAE F 9RET |

(1) 84 cm
(2) 80 cm
(3) 76 cm
(4) 72cm

[Question ID = 47][Question Description = S10_Maths Content/Pedagogy_Q047]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]

18)

The volume of a closed right circular cylinder of base radius 7 m is 462 m?3. Total surface

area of the cylinder is [Use 'rr—%] :

7
(1) 220 m2
(2) 264 m2
(3) 308 m?
(4) 440 m?

ol =g ofa il e, fSash! SR 5531 7 m 8, &1 STAa7 462 m3 § 1 39 9e &l $ol I
e & =% 1 YA HIfSC | .

(1) 220 m?
(2) 264 m?
(3) 308 m?
(4) 440 m?

[Question ID = 48][Question Description = S10_Maths Content/Pedagogy_Q048]
1. 1 [Option ID = 189]

2. 2 [Option ID = 190]

3. 3 [Option ID = 191]

4. 4 [Option ID = 192]

19)

The mean of the range and mode of the observation 14, 16, 17, 15, 13, 15, 14, 15, 12, 12,
16, 15, 11, 19, 16, 15, 18, 14, 16 and 17 is :

(1) 11
2 115
3) 12

4) 13.5



eI 14, 16, 17, 15, 13, 15, 14, 15, 12, 12, 16, 15, 11, 19, 16, 15, 18, 14, 16 3R 17 & 9@ 3R

TG B HEA §
1 11

2) 11.5

3 12

(4) 13.5

[Question ID = 49][Question Description = S10_Maths Content/Pedagogy_Q049]
1. 1 [Option ID = 193]
2. 2 [Option ID = 194]
3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

20)

All the letters of the word PERIMETER are written on 9 separate paper slips and putin a
box. One slip is drawn from the box without looking at it. What is the difference between
the probability of getting a consonant and the probability of getting a letter I ?

5
M 3
4
@ 3
3
B 3
2
4 3

¥1¢ PERIMETER o 94 31810 <l 9 Y&eh STl ol il U forast U fess H v foan <imn @
fam 21, 39 fesil ® 9§ U =t Feprell St ©1 U =4 3R U 21aR 1 W e ohi ifaehansdi
T T SaT e ?

B
O O|w O|d= o,

[Question ID = 50][Question Description = S10_Maths Content/Pedagogy_Q050]
1. 1 [Option ID = 197]
2. 2 [Option ID = 198]
3. 3 [Option ID = 199]
4. 4 [Option ID = 200]

21)



Which is the most important prerequisite knowledge for the teaching and learning of
monomials, binomials, trinomials etc in algebra and algebraic expressions ?

(1) Like and unlike terms

(2) Algebraic identities

(3) Operations of algebraic expressions
(4) Degree of variables

i ford i Sy odsehl H§ whel, fgug, Frog onfe o femr i st & oo waifys
B Yaruiad I -9 § 2

(1) &= iR fawia 1g

(2) st wftend

(3) s =istehi =i dferamd

(4) = %I =™

1[Q1L;¢[acs)titgn ||l; =250 :]][Question Description = $10_Maths Content/Pedagogy_Q051]

2. 2 [Option ID = 202]

3. 3 [Option ID = 203]
4. 4 [Option ID = 204]

22)

Which among the following is/are TRUE regarding asking open-ended questions in a
mathematics classroom ?

(a) It helps students to improve convergent thinking skill
(b) It develops critical thinking skill
Choose the correct option.

(1) Only (a) is true
(2) Only (b) is true
(3) Both (a) and (b) are true
(4) Both (a) and (b) are false

TfoTe St Uk e H Gel- T arel ul 1 U2 & gy § Frefafes § 9 an-ad 98 222
(a) e famnfei=i 1 afigmd fea SR Fi Seat 99 § 7eg Fia §

(b) T T foa Fere 1 fawm w3 @

et fasey 1 974 Hifsu

(1) %o () TA &

(2) Fad (b) 9 ¥

(3) () ¥R (b) I TA &

(4) (a) 3 (b) T 37HA T
[Question ID = 52][Question Description = S10_Maths Content/Pedagogy_Q052]
1. 1 [Option ID = 205]

2. 2 [Option ID = 206]



3. 3 [Option ID = 207]
4. 4 [Option ID = 208]

23)

Which of the following activities show mathematization of a child’s mind according to
National Curriculum Framework, 2005 ?

(1) A child promptly solves mathematical problems

(2) A child has memorized all important mathematical formulae
(3) A child understands and makes connections across concepts
(4)

4 A child knows all the standard algori’thms of so]ving pmblems

U IS wE, 2005 3 ATER Fefafad § & se-gt fafaty a=1 o afeqss & fordmor
] T & 7

(1) = vivsrn | wfordta ® weend ga e @

(2) == A |t meegot aftrdtr g o e W fam ®

(3) s SrEHTNEd 1 el ¥ ofR 39 Sfi" dey °aem 8

(4) == grEnsl F1 gd F F G g For-Taferi o S 2

[Question ID = 53][Question Description = S10_Maths Content/Pedagogy_Q053]
1. 1 [Option ID = 209]
2. 2 [Option ID = 210]
3. 3 [Option ID = 211]
4. 4 [Option ID = 212]

) Community Mathematics is related to :

(1) Arithmetic

(2) Relations and Functions
(3) Integral Calculus

(4) Differential Calculus

rErge e ¥ geifd 21

(1)  Simford

(2) HaHl ud e (HRT)

(3) HHERAT T H (U hehad)

(4) e o (felRfme Fempew)
[Question ID = 54][Question Description = S10_Maths Content/Pedagogy_Q054]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]

3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

25)



To prove that the sum of interior angles of a triangle is 180° a teacher uses paper cut out
of a triangle, cuts its all the angles and place them on a straight line. This is an example of
proof by :

(1) Verification

(2) Deduction
(3) Induction
(4) Contradiction

77 fag & = foru i ws By & o1 il =61 901 180° ©, W e smret & e 4 wodt

I = 2 FL T Hie W W T E | TS S § T 3uufa =)
(1) HIIH

(2) e

(3) AT AT

(4) @red

[Question ID = 55][Question Description = S10_Maths Content/Pedagogy_Q055]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]
3. 3 [Option ID = 219]
4. 4 [Option ID = 220]

26)
Which among the following is/are TRUE about Van Hieles theory of geometric thinking ?
(a) Thinking levels are age-dependent
(b) Teaching instruction must match student’s level of geometric thinking
(c) Levels are sequential
Choose the correct option.

(1) (a)and (b)

2) (b)and (0
(3) (a) and (c)
(4) Only (b)



-2t F nfed a6 fagia & deof § Freifafed § & 0 9o 2/872
(a) Toa % wr emg-Fruifte &emg o fofe €

(b) Toreror frder =1 faeneff & snfufa fdaw & @) * eam @ =nfee

() TR FHEERE

Wl fasheq =1 =2 sifau :

(1) (a) 3 (b)

(2)  (b) 3 ()
(3)  (a) 3 (¢)
(4) e (b)

[Question ID = 56][Question Description = S10_Maths Content/Pedagogy_Q056]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

27)
Which among, the fn]low’ing 1s NOT true about axioms in mathematics 7
(1) Axioms are consistent.

(2) Axioms are propositions which are assumed and accepted without any evidence to
prove it.

(3) Axioms are available only in geometry.

(4) Axioms are adequate.

Tt # g 3 Hew § frefafea § & oo 5o T8 22
(1) wrifag sfad &
(2) TrEifgs U9 vea@ € S famm fardt wmfor @ gr et oiR =i frn om §
(3) wAfEg FHae sfafa § & Suaey €
(4) Ty oo e o g €
1[Q:J?;ti:n |||3 =252:]][Question Description = $10_Maths Content/Pedagogy_Q057]
2. 2 [Option ID = 226]

3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

28)
Which of the following are NOT the elements of computational thinking in mathematics ?
(1) Decomposition

(2) Pattern recognition
(3) Abstraction
(4) Expression



Frefafea § § - e § Fegeyea (sifisera) foma = 9 78 €2
(1)  erusred
(2) e gEEE

(3) oI
(4) APt

[Question ID = 58][Question Description = S10_Maths Content/Pedagogy_Q058]
1. 1 [Option ID = 229]
2. 2 [Option ID = 230]
3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

29)
Mathematical communication among the learners can NOT be enhanced by :
(1) Using simple, friendly, and clear language that relates with local language
(2) Introducing mathematical ideas, symbols and signs by connecting them with child’s
own language
(3) Discouraging the use of local language to express mathematical terms in the classroom

(4) Facilitating learners to associate number concepts, vocabulary, quantities etc to express
their thoughts

forarfefi % <= wftrcfts weieo =1 forgsh grn & e S Heha £72
(1) =%, Tegof of) s oo =1 ST it S T e § getig @

(2) wforcry fo=m, wdten! SR Sehdl o1 IR=a o=t H AT A1 F 1Y Y S A
(3) =eN ¥ IO vsa @l e Y o feau T 9T % SR 1 gdiedfed HEl
(4) Toenfef=i 1 o fomm =1e & % fau den sreyrmsdi, vseEe, ames sefe &
fora H gafen y&m T
1[Q1L1c[a;titgn |||3 =253§j|[Question Description = S$10_Maths Content/Pedagogy_Q059]

2. 2 [Option ID = 234]
3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

30)

“ Assessment of learning in mathematics provides the opportunity to respond to feedback,
for learners to improve their conceptual understanding”. Which of the following most
appropriately explains the meaning of the given statement ?

(1) Feedback in assessment helps the learners to strengthen their conceptual
understanding in mathematics

(2) Teachers can improve their own conceptual understanding through feedback
(3) Feedback plays no role in developing conceptual understanding of learners
(4) Giving scores in mathematics test is the only way to give feedback to learners

to improve their conceptual understanding



“afora 7 SIfeEre 1 streRer farEfeiAl sl SR STa U A H YUK & o fog gfagie %

yfdferan =1 Tae yeH war w1 F=fafes § § #E-, 5 0 wm % 99 % g9l 30y

& ?

(1) e o giagfte Aftrmaardial =l 37en! 10 H STEURcHe: H99 ol 958 Hi1 ° g
EoGil

(2) wfrgfe gr fse sTot He &1 SEYRUTCTE 99 I dga 99 Hed §

(3) sifirmaeRaisti # saumoTeTs T 1 fowfaa w0 H ufagfe w5t e it 78 e @

(4) ofFTHRAls 1 STEYURUIHS HHg &I 98t 941 & o 106 % %2 § 3 o1 wfagfie
YEH T T THATA TIH ©

1[.Q1ut[e;|t3it(i)or:] |||[)) ==2(;<;]][Question Description = S10_Maths Content/Pedagogy_Q060]

2. 2 [Option ID = 238]

3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- SCIENCE_P2_CTET

1)
(A) _is the largest gland in our body and secretes ___(B) _ which helps in digestion
of (C) .

(A), (B) and (C) respectively are :

(1) Pancreas, insulin, carbohydrates
(2)  Liver, bile juice, fats

(3) Stomach, gastric juice, proteins
(4) Small intestine, bile juice, fats

TAN YRR A _ (A) el i Weft € @R (B) e el € S __(C) % e H Heg Sl
gl

(A), (B) 3fR(C) L & :

(1) oM, Egfor, FERrEse
(2) =, foa @, 5w

(3)  SAHIYE, HEE W, TEH
(4) B @, T @,

[Question ID = 61][Question Description = S10_Science_Q061]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]



2 3 ; ;
) Which of the following statements is correct ?

(1)  All arteries carry oxygen rich blood

(2)  All veins carry deoxygenated blood

(3) Pulmonary artery carries blood from heart to lungs

(4) Pulmonary vein carries impure blood from heart to lungs
fFefefad d & 1 o1 Fo T 2

(1) |l ol it 9% o 984 Sl 8 |

(2) =it Tord fasifadiora o oed el €1

(3) TFERH U9 &2F ¥ FERH 0% & g8 Hl ¢

(4) FFFE O 589 9 $FFE 9% AYS TR 984 Ll 5l

[Question ID = 62][Question Description = S10_Science_Q062]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]
3. 3 [Option ID = 247]
4. 4 [Option ID = 248]

3)
(A)___ reacts with oxygen and water to form a compound ___(B) . This compound
turns __ (C)  litmus (D) and becomes milky on passing _ (E)  gas.

(A), (B), (©), (D), (E) respectively are :

(1) Magnesium, Magnesium oxide, red, blue, Sulphur dioxide
(2) Calcium, Calcium hydroxide, red, blue, Carbon dioxide
(3) Magnesium, Magnesium oxide, blue, red, Carbon dioxide
(4) Calcium, Calcium hydroxide, blue, red, Carbon dioxide

(A)  sifediee o) o ¥ sifaferan 2wk difer _ (B) 1 Fofor &6ean €1 9= Aife
_(Q faemm® (D) T uftEfda s @ sk (B) 9 yarfed #3H W gfurn & s §)
(A), (B), (C), (D), (E) HI: € :

(1) Befiferm, Fiftrm sifaaee, o, e, qew eesieee
(2) ohfcerm, Hicorm BEglaEe, o, Fidl, Hiad SElFIEe
(3) Frifeem, Hfem sifeaee, fen, @@, FEE eEeiTEe
(4) Rfcyrm, Shfcomm TEgieEs, Hiel, o, HE- SEFEe

[Question ID = 63][Question Description = S10_Science_Q063]
1. 1 [Option ID = 249]
2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]



4 3 : 5 g
) Which of the following set represents natural indicators for acids-bases ?

(1) Phenolphthalein, litmus

(2) Litmus, turmeric
(3) Chinarose, methyl orange
(4) Turmeric, phenolphthalein

Frfefad # & S W1 9= 77 - e o YThfae g=ehi Sl el @ 2

(1) hHAeEfe, faeny
(2) foemg, s
(3) TSed, HiY¥d AN

(4) =g, iATerrfer

[Question ID = 64][Question Description = S10_Science_Q064]
1. 1 [Option ID = 253]
2. 2 [Option ID = 254]
3. 3 [Option ID = 255]
4. 4 [Option ID = 256]

®) Which of the following are NOT characteristic adaptation feature of desert plants ?

(A) Deep penetrating roots

(B) Fleshy stem

(C) Leaves with waxy coating
(D) Sloping branches

(1) (C) and (D)

(2)  (A)and (B)

(3) (A) and (C)

(4)  (B) and (D)

Freferfaa | | nowere gl & &b § sifienafors sTgem s =& €2
(A) TR dud S

(B) TGER T
(C) HI % 9% =1 90

(D) Tl =it
(1) () ¥R (D)
(2) (A) ¥R (B)
(3) (A) 3R (Q)
(4) (B) 3 (D)

[Question ID = 65][Question Description = S10_Science_Q065]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]
3. 3 [Option ID = 259]
4. 4 [Option ID = 260]



®  Rusting of iron is :

(1) A physical and reversible change
(2) A chemical and reversible change
(3

) A chemical change and irreversible change
(4) A physical and irreversible change

T 1 HEIRT § :

(1) U sifdss T IeRuid qiEd

(2)  UF T U SeReeity gfted

(3) U THEHE UREGT Ud SR qiEdd
(4) U Sifdek U ATeRHvIE giEa

[Question ID = 66][Question Description = S10_Science_Q066]
1. 1 [Option ID = 261]
2. 2 [Option ID = 262]
3. 3 [Option ID = 263]
4. 4 [Option ID = 264]

7)

(X)__ twins in human beings are formed when __(Y)  egg/eggs is/are fertilized by
__(Z) _ sperm/sperms.

X, Y, Z respectively are :

(1) Identical, one, one
(2) Identical, two, one
(3) Fraternal, one, one
(4) Fraternal, one, two

eI H (X)) Jeaaw i ddEsa  (Y)  sde/siEl (Z)  yphmy/sEms g fafea
BE

X, Y, Z F99: & :

(1) THEY, T, TH
(2) YUEY, T, TH
(3) U, Uh, Th
(4) YBIE, T, ©f

[Question ID = 67][Question Description = S10_Science_Q067]
1. 1 [Option ID = 265]
2. 2 [Option ID = 266]
3. 3 [Option ID = 267]
4. 4 [Option ID = 268]

8)



You are given two bags-one with wide strap and another with narrow strap. For carrying
a given number of books you would prefer to use :

(D)
(2)
(3)
(4)

The bag with narrow strap as force is spread over large area
Bag with wide strap as force per unit area is less

Bag with narrow strap as force is spread over small area
Bag with wide strap as force per unit area is more

R &1 S fow U R - e S ugt i e g a1 € S qEeh ae o o T, ey
SUAN A =M

(D)
(2)
(3)
(4)

e wgt 1 der it ot w1 R uh geq A5 W
Irel ygt = Ten it g 9 g A = g

Rl T2t =1 Sen FifE F F1 fo=n T B 49Fd W
Gt Tg! 1 IeT FHifer g 9fd 3R SAF HF §)

[Question ID = 68][Question Description = S10_Science_Q068]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]
3. 3 [Option ID = 271]
4. 4 [Option ID = 272]

9)

If equal amount of hot tea is poured in a metal cup and a plastic cup, which of the following
statements would be true ?

(1)

The tea in the metal cup remains hot for longer time as metal is hot to touch while
plastic cup is not hot to touch

The tea in the metal cup remains hot for longer time as metal is good conductor of
heat

The tea in the metal cup does not remain hot for longer time as metal is good conductor
of heat

The tea in metal cup remains hot for longer time as compared to plastic cup as
plastic is bad conductor of heat

3T Uek o1 Y 371 Uk Teilfeeeh 9 H TH =18 o6t THE 13 St 18 ol fHefafen s 5 9 @
Hed B ?

(1)

o1 9 B = T T e TTH el § i g B 9 T e §, St Wi Y g o
REE G

o1 9 H =9 e T T T @t @ iR G S gEes 2

oI 9 H 90 S 99 T 79 T8 @l FifE 91g S H gaesh ¢ |
TRE 9wl g § S 6 Y W 9 e §9F d% TTH @l § il wifiesh e bt
FHEAF T |

[Question ID = 69][Question Description = S10_Science_Q069]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]



3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

10 ; 5
" Assertion (A) : An elecromagnet is a temporary magnet.

Reason (R) : It is a weak magnet.

(1) (A) and (R) are true and (R) is correct explanation for (A)

(2) (A) and (R) are true but (R) is not correct explanation for (A)
(3)  (A) is true but (R) is false

(4) Both (A) and (R) are false

FURYT (A) :  SEd FIF Th ST GaF 2 |
I (R) : Tg U godl 99 ¢ |
(1) (A) 3R (R) i T € iR/ (A) F1 (R) T& = &3 &)
(2) (A) 3 (R) EFi @ € =g (A) T (R) TE1 =ame 8] =3 & |
(3) (A) ¥ & g (R) 37 B
(4) (A) ¥R (R) S 79
1[Q:Jt[e;tit?n I|I[)) =277(7)i|[Question Description = S10_Science_Q070]
2. 2 [Option ID = 278]

3. 3 [Option ID = 279]
4. 4 [Option ID = 280]

11 : : ; . . ;
) Which of the following statement is correct on the basis of following information ?

‘A" Forms a virtual and erect image always
‘B’ Forms real and inverted image mostly

(1) ‘A’ 1is convex lens and ‘B’ is convex mirror
(2) ‘A’ could be convex mirror or concave lens
(3) ‘B’ could be convex mirror or convex lens
(4) ‘B’ is concave lens and “A’ is concave mirror

Trefafad gaa1 & oeR R 77 § | %F 91 &Y We 22
‘A T U Tt v e wiafse s

‘B AR T arfad Ud 3ol Wafsd SETdr § |
(1) ‘A’ 3T ¢F g 3R ‘B’ U 390 g4 2|

(2) ‘A’ ST U A A S B Tehal § |

(3) ‘B ST T A I SH & TRl & |

(4) ‘B’ oTedel oiF SR A" STeEe g9 # |

[Question ID = 71][Question Description = $10_Science_Q071]

2. 2 [optin 10262

3. 3 [Option ID = 283]
4. 4 [Option ID = 284]



12)

The distance time graph is a line.
graph ?

(1)
(2)
(3)
(4)

It is uniform motion

It is non uniform motion

It may be unifom or object is at rest

The objeCt 1s at rest

What can be concluded about the motion from the

G -HTE UTE U W@ 7 | A i 6 fowm § ey g frsepd feprei 2

(1)
(2)
(3)
(4)

Ig Ush THTHHA Tfd B |
g Uk A9 T ¥

TE THTHA A1 o feormaTee 7 2 |

g ferreen § 21

[Question ID = 72][Question Description = S10_Science_Q072]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

3 Match the following.

(A)

2
e i e

3

(
(
(
(1
(
(
(4

B) Cold and windy

C) Shows phases like moon
D) Has low density

iv), (B)-(ii), (O(ii), (D)
(i), (Q)-(), (D)-(iii
) (iv), (D)-(i
B)-(i), (C)-(iv), (D)-(i1

(A)-(iv)

(A)-(11),
(A)-(1),
(A)-(iid),

(B
(B)-(ii), (©)-
(B)

Frefafad = gafea it )

(A)
(B)
(©)
(D)
(1)
(2)
(3)
4)

sife g 181 X I A ©
el 3R gaRR

e fre &

(A)-(iv), (B)(iii), (C)-(ii), (D)-(i)
(A)-(ii), (B)-(iv), (C)-(i), (D)-(iii)
(A)-(3), (B)-(ii), (C)-(iv), (D)-(iii)
(A)-(iii), (B)-(1), (C)-(iv), (D)-(i1)

Rotates on a highly tilted axis

(iv)

[Question ID = 73][Question Description = S10_Science_Q073]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]
3. 3 [Option ID = 291]

=
et

E' [=H
" =

FEOT

P e
B
S

Venus
Uranus
Saturn
Neptune



4. 4 [Option ID = 292]

14)

If the angle between the normal and incident ray is 30° the angle between the incident
and reflected ray is :

(1) 60°
(2) 30°
3) 0

(4) 90°

gfg 1fyedd @i safad fereor & &= 30° &0 €, 99 emafad 2R wEfdd fomtor & o9 S @

(1) 60°
2) 30°
3) 0°

4) 90°

[Question ID = 74][Question Description = S10_Science_Q074]
1. 1 [Option ID = 293]
2. 2 [Option ID = 294]
3. 3 [Option ID = 295]
4. 4 [Option ID = 296]

) Which of the following statement regarding friction is true ?

(1)  Friction does not depend on mass of the object

(2) There is no frictional force acting on a stationary car
(3) Rolling friction is less than sliding friction

(4) Air friction acts in the direction of gravity

Freafafe & § 9 @1 FoF wio & e § oy 72
(1) =07 =g o g o fAefR =8 s
(2) forrmreEen § RSt R W w18 =6 96 S A28 |
(3) Tl T F e T E
(4) @ =W %A @i o | w w2
1[Q:J<E:-;tit(?n |Ir; =213]][Question Description = S10_Science_Q075]
2. 2 [Option ID = 298]

3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

16)



Assertion (A) : In order to melt gold, Goldsmith blow the outermost zone of the flame
using a metal pipe.

Reason (R) : The outermost zone is the nearest and not too hot to blow.

(1) Both (A) and (R) are true and (R) is correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not correct explanation for (A)

(3) (A) is true but (R) is false

(4) Both (A) and (R) are false

FRERT (A):  HH F T F o, AR g I UL F SYART FF SOl o STelaH S 9
ek TRl B |

WHRUT (R) :  dead SiF fehean & oit % #ra  fae sifiss 7 =8 @)

(1) (A) 3R (R) & & § iR (A) Fi (R) W&l =0m 8

(2) (A) X (R) 1 5= € foReg (A) T (R) &1 =men =2 21

(3) (A) ¥ T fohg (R) o8 B

4)  (A) 3R (R) AT &9 B

1[Q:J?;tit9n |||3 =3Z)?i|[Question Description = S10_Science_Q076]

2. 2 [Option ID = 302]

3. 3 [Option ID = 303]
4. 4 [Option ID = 304]

17)

Metal A displaces metal B from its salt solution but not able to displace C from its salt
solution. Metal B displace metal D from its salt solution. Which is the second most reactive
metal ?

(1) A
(2) B
3 C
4 D

HIg B I €I A 3G oauiig faer § fawnfia st @ g C 1 S9% ooy faeme 9
fowenfug =81 2 it | &g D &1 91g B 3Wk @auiiy faee § fowenfua #wdt 21 #F @ 4
fedraes arfufsrantia &2

(1) A
(2 B
3) C
49 D

[Question ID = 77][Question Description = S10_Science_Q077]
1. 1 [Option ID = 305]
2. 2 [Option ID = 306]
3. 3 [Option ID = 307]
4. 4 [Option ID = 308]



® (X)  is a vitamin which is needed for absorbtion of (YY) .

Xand Y are :

(1) Vitamin B, Calcium
(2) Vitamin C, Iron

(3) Vitamin A, Calcium
(4) Vitamin A, Iron

(X) Uk frfE g S (Y) % i & fow smewmeE g1 X sy ¥
(1) fa=ifm B, Hicemm
(2) feerfm C, =
(3) faerfFm A, Shfeerm
(4) faarfm A, e
[Question ID = 78][Question Description = S10_Science_Q078]
1. 1 [Option ID = 309]
2. 2 [Option ID = 310]

3. 3 [Option ID = 311]
4. 4 [Option ID = 312]

19 ; - A .
" Assertion (A) : The leaves of a carrot plant have reticulate venation.

Which of the following support this ?
(I) Plants having tap root have reticulate venation

(2) Plants having fibrous root have reticulate venation
(3) There is no relation between the type of venation and roots
(4) All leaves have reticulate venation

AR (A) : TSR % U9 w1 afedl | sfersredt forafamy #
frfefad & 4 9 g9 guefq =t &2

(1) Ha g & Wl § sfererredt frfa=rg g ¢

(2) HHen ST % Ui § Sfeerredt frafa=mg g g

(3) Trufa=md & yoRr wd =i | #1E day 71 g

(4) =i ufeEi o siforedr e g )

[Question ID = 79][Question Description = S10_Science_Q079]
1. 1 [Option ID = 313]
2. 2 [Option ID = 314]
3. 3 [Option ID = 315]
4. 4 [Option ID = 316]



20)

Identify the type of cells on the basis of the information about cell organelles.

‘A" Cell Wall, Vacuole, Mitochondria, Nucleus

-
o
1)
2)
3)
4)

e I e T et T

Cell membane, Vacuole, Mitochondria, Nucleus
Cell membrane, Plastids, Mitochondria, Cytoplasm
‘A’ and ‘C’ are plant cells, ‘B’ is animal cell

‘A’, "B, 'C’ are plant cells

‘B’ and ‘C” plant cells and ‘A" is animal cell

‘A" and ‘B’ plant cells, “C’" is animal cell

IR o Hes H I & SNHR G RINERISA] o FohE i TeaH il |
‘A ifereRr Pafa, fifaaem, gEeRfore, Feae

o]

‘C’ =it Tereet, T, YEHUE, iR

(1) ‘A’ 3 'C 9EY FIREHT, ‘B’ e iR § |
(2) ‘A’,’B,’C’ WTEY HIERT
(3) ‘B 3R /C’ ey FifrRd i A” i i ¥
(4) ‘A’ 3R ‘B’ UEY HIERT, ‘C Sia iR €
[Question ID = 80][Question Description = S10_Science_Q080]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]
3. 3 [Option ID = 319]
4. 4 [Option ID = 320]
21)

Which of the following questions is best suited to assess divergent thinking in learners ?

(1)
2)
3)

)

(
(
(4

Draw and label water cycle

Which process is responsible for formation of clouds ?
What would happen if there was no water cycle ?
Why do we sweat more on a humid day ?

Torenfeli H stogrdl a9 & steper o fo Fafafad 5 9 &9 91 yeq gaarys 3ugH 82
(1) icr=sh &1 st sedi efR Amiferd &3
2) =IeE & fatn & fag b o wfmn Seer &2

(3)

1 B AfG IS oI =k A1 8l ?

(4) fordlt ond fom &6 o sifuss =i et 7

[Question

ID = 81][Question Description = S10_Science_Q081]

1. 1 [Option ID = 321]
2. 2 [Option ID = 322]
3. 3 [Option ID = 323]
4. 4 [Option ID = 324]

22)



Anupriya is planning a teaching - learning activity for her grade VI learners on topic
‘water pollution”. Which of the following activities is preferred to accommodate learners
with diverse learning styles ?

(1) Showing chart on various causes of water pollution
(2) Taking students on a field visit to a polluted river

(3) Inviting expert to talk on the above topic
(4)

4)  Asking students to prepare a written report on water pollution

arforen v ‘Stet W' o¥ el VI & sroe faenfeidt % farg ferem siferm famemery &6 A
a7 w71 fafay wfrm Gfet F ek % guese i et § @ fe e =
yrfeReT <1 =fey ?

(1) < qgu & fafie Srol @ =6 9|

(2) W wefte et & &g S ot faenfefi o1 o st

(3) U fos™ o 9=l i o fore faerad o1 e e |

(4) i@ yeuw W fanfeEi =i ww fafea fde a9H & fod #a)

[Question ID = 82][Question Description = S10_Science_Q082]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]
3. 3 [Option ID = 327]
4. 4 [Option ID = 328]

23)
Which of the following statements is correct ?
Assertion (A) : The alternate conceptions of learners tend to persist even after formal
instruction.
Reason (R) : The accepted scientific explanation are often counter intuitive
(1) Both (A) and (R) are true and (R) is correct explanation for (A)
(2) Both (A) and (R) are true and (R) is not correct explanation for (A)
(3) (A)is true and (R) is false
(4) Both (A) and (R) are false

fr=fafad § 9 =9 91 Fo9 9 872

afierem (A) ¢ ToenffE = faeed deeumd e AR & ave ot 9 = F
T (R) S == 17 - 1 ol 0 2 e et R T

(1)  (A) 3R (R) aF ¥ € 3R (A) F (R) Hel S H3 2

(2) (A) 3R (R) 1 T § 3T (A) FT (R) TE = 76 2

(3) (A) ¥ 7 3N (R) I5A T

(4)  (A) 3R (R) 3 79 F

[Question ID = 83][Question Description = S10_Science_Q083]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]



3. 3 [Option ID = 331]
4. 4 [Option ID = 332]

24 : : : ; s s P
) Which of the following statements is/are true regarding scientific investigations ?

(A) In an investigation, data is always numerical

(B) There is only one correct method in a scientific investigation
(1) (A) is true and (B) is false

(2) (A) is false and (B) is true

(3) Both (A) and (B) are true

(4) Both (A) and (B) are false

St s o Heol H frafafe wud § 9 | a8
(A) Tt ar<ror 9, 21 He HEmeTs € 7
(B) SR sr=arei B hae ue @ wet fafy g

(1) (A) 9 & IR (B) 3764 &1
(2) (A) #H § 3R (B) 9 B
(3) (A) ¥R (B) I H €|
(4) (A) 3R (B) SHi 318 T

[Question ID = 84][Question Description = S10_Science_Q084]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]
3. 3 [Option ID = 335]
4. 4 [Option ID = 336]

) S1: Plants contain chlorophyll in the cells of their leaves.

S2: Plants need sunlight, water and carbon dioxode for photosynthesis.

(1) Sl is fact and S2 is inference
(2) Sl is inference and S2 is fact
(3) Both S1 and S2 are facts

(4) Both S1 and S2 are inferences

S1: i i uferi s wifeeeed # woiela g E
S2 : YERIY Geerwyl o for diedi 1 g % g, S UG e SESATSEIEE F STEvashdl Bl 2 |

(1) S1 94 ¢ 2ir s2 fend 7
(2) Sl et € 8 S2 929 &)
(3) Sl &R S2 BHi a2 |

(4) Sl &R S2 Ml Frepd €1

[Question ID = 85][Question Description = S10_Science_Q085]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]
3. 3 [Option ID = 339]
4. 4 [Option ID = 340]



26 s : ; - ;
) Which of the following statements is not correct regarding science ?

(1)  No single scientific method exists

(2) Culture plays a role in development of scientific knowledge
(3) Creativity has no role in science
(4) There is subjectivity in development of scientific knowledge

for & devl # Freiforfiaa et § 9 o1 9t 78 €2
(1) =g «ft wh e fafy =21 €1

(2) S W % fosm o Hesfa w1 et yfte ¥
(3) faam & geremsar &1 &S e 7& S|

(4) e 99 % famm § safaafrsa S 8

[Question ID = 86][Question Description = S10_Science_Q086]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

27)

A student takes a boiled potato paste in a test tube and puts few drops of idodine solution.
She writes the following statements in her copy.

(A) Potato turns blue black in colour

(B) Potato contains starch

Which of the following statements is true ?
(1) Both (A) and (B) are observations

(2) Both (A) and (B) are inferences

(3) (A) is observation and (B) is inference
(4)

4)  (A) is inference and (B) is observation

ShIE BT Teh TETe § 3961 3716 &1 U= o o 390 AEeH faosm #f 3 §¢ S/ad 81 98
st gfige § Frefafed wue foadt €

(A) e 1 er-hren & S 2

(B) Tl ® = ¥

freferfaa el § 71 9o 22

(1) (A) 3R (B) SHI 7o € |

(2) (A) SR (B) g1 fremd )

(3) (A) #gelis § A1 (B) freed &1

(4) (A) fFrerd & i (B) 1@ 2

[Question ID = 87][Question Description = S10_Science_Q087]
1. 1 [Option ID = 345]
2. 2 [Option ID = 346]
3. 3 [Option ID = 347]



4. 4 [Option ID = 348]

28)

While discussing the properties of water a class VI learner says that “water in the drain is
brown in colour ; hence the colour of water is brown’

A science teachers” response should be :

(1) Ignoring the statement

(2) Asserting that his logic is incorrect

(3) Emphasing that water is colourless

(4) Accept the response and explain the logic

St o U 9 == d §U AT VI o fedredl A e T el | siet o1 0 9§, safay S w5
YRR’ |

o o forerss =t wfafesran 2t =fea .

(1) e =hi SU&0 KT =8|

(2) TroemgEs we fo sge o 98 76

(3) S S R el T <A T ©

(4) wfdfshan =1 WiHR L SR Tk Hi SATE i |

[Question ID = 88][Question Description = S10_Science_Q088]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]
3. 3 [Option ID = 351]
4. 4[Option ID = 352]

29)
In order to cater to the students with ‘giftedness’ which of the following is least desirable

to be used in science classroom ?

(1) Standardized curriculum and assessment

IJ

Academic enrichment activities

[

)
(2)
(3) Independent project by students
(4)

4) Opportunities to express diverse perspective

‘gfgumitar’ faenfel=i o guzm & 2ya 4, fagm & wen | Fefafed § 9 @0 998 +9 gz
8?7

(1) WHHIFd TS=El U e

(2) Wifersr e forarrary

(3) ferenfei gru we wfwEsE

(4) Torsgd uftye™ =1 SAMEAT 8 TR
[Question ID = 89][Question Description = S10_Science_Q089]
1. 1 [Option ID = 353]

2. 2 [Option ID = 354]
3. 3 [Option ID = 355]
4. 4 [Option ID = 356]



30)

Which of the following is least preferred in facilitating the understanding of a ‘concept’ in
science ?

(1) Asking students to define the concept

(2) Asking students to generalize the concept from specific examples
(3) Asking students to give non examples of the concept
(4) Asking students to explain concept in their own words

faam =t fHdt ‘Heream' &t 9ug & gae 59 og Fefafad § § ®98 we w seqan
ek B =12 2

(1) feenfef=i =t Herean =1 afianfig 3 & fao s

(2) Teenferd = fafere SEEON 511 HeHeq1 1 WHFIF H & fa FHa

(3) Tomnfeli =t Hereqa & TR-3EEAT (3E-3RIW) o7 & fore wE

(4) To=nfaEi = 379 3197 Weal H Hehedl &l A FH o T HEl

[Question ID = 90][Question Description = S10_Science_Q090]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]
3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

Topic:- ENG_Q91-99_L1_P2_CTET

1)



Read the passage given below and answer that follow by selecting the correct / most appropriate

option :

1.  The art of academic writing is not easy to master. It is a formal skill, which requires
precision and accuracy, and is perfected by continuous and dedicated practice. Academic
writing is the skillful exposition and explanation of an argument, which the writer has
carefully researched and developed over a sustained period of time. It is a time -
consuming activity and demands patience and perseverance. But the joy of reading
and sharing with others, one’s succinctly composed piece of argument, is incomparable.

2.  Before beginning to write, the writer must ask himself a few questions - Why am I
writing ? What is it that I intend to share with others ? What purpose will my writing
serve ? Have I read enough about the topic or theme about which I am going to write ?
If one is hesitant to answer even one of the aforementioned questions, one better not
write at all! Because academic writing is a serious activity - it makes one part of a
shared community of readers and writers who wish to disseminate and learn from
well - argued pieces of writing.

3.  The Structure of an argumentative essay should take the form of - Introduction (Which
should be around ten percent of the entire essay), Body (it should constitute eighty
percent of the piece) and the Conclusion (again, ten percent of the essay). The
introduction should function as the hook which draws the reader in and holds his
attention, the body should include cogent and coherently linked paragraphs and the
conclusion should re - state the argument and offer a substantial ending to the piece.

The word ‘time - consuming’ in para 1 is a/an :
(1) conjunction

(2)

(3) noun
(4)

[Question ID = 151][Question Description = S10_English Content/Pedagogy_Q091]
1. 1 [Option ID = 601]
2. 2 [Option ID = 602]
3. 3 [Option ID = 603]
4. 4 [Option ID = 604]

adverb

adjective

2)



Read the passage given below and answer that follow by selecting the correct / most appropriate

option :

1.  The art of academic writing is not easy to master. It is a formal skill, which requires
precision and accuracy, and is perfected by continuous and dedicated practice. Academic
writing is the skillful exposition and explanation of an argument, which the writer has
carefully researched and developed over a sustained period of time. It is a time -
consuming activity and demands patience and perseverance. But the joy of reading
and sharing with others, one’s succinctly composed piece of argument, is incomparable.

2.  Before beginning to write, the writer must ask himself a few questions - Why am I
writing ? What is it that I intend to share with others ? What purpose will my writing
serve ? Have I read enough about the topic or theme about which I am going to write ?
If one is hesitant to answer even one of the aforementioned questions, one better not
write at all! Because academic writing is a serious activity - it makes one part of a
shared community of readers and writers who wish to disseminate and learn from
well - argued pieces of writing.

3.  The Structure of an argumentative essay should take the form of - Introduction (Which
should be around ten percent of the entire essay), Body (it should constitute eighty
percent of the piece) and the Conclusion (again, ten percent of the essay). The
introduction should function as the hook which draws the reader in and holds his
attention, the body should include cogent and coherently linked paragraphs and the
conclusion should re - state the argument and offer a substantial ending to the piece.

‘What purpose will my writing serve” ? The underlined world ‘writing” in this sentence is a/an :
)  noun

[y

verb

LN =

)
) adjective
)

N

adverb

(

[Question ID = 152][Question Description = S10_English Content/Pedagogy_Q092]
1. 1 [Option ID = 605]
2. 2 [Option ID = 606]
3. 3 [Option ID = 607]
4. 4 [Option ID = 608]

3)



Read the passage given below and answer that follow by selecting the correct / most appropriate

option :

1.  The art of academic writing is not easy to master. It is a formal skill, which requires
precision and accuracy, and is perfected by continuous and dedicated practice. Academic
writing is the skillful exposition and explanation of an argument, which the writer has
carefully researched and developed over a sustained period of time. It is a time -
consuming activity and demands patience and perseverance. But the joy of reading
and sharing with others, one’s succinctly composed piece of argument, is incomparable.

2.  Before beginning to write, the writer must ask himself a few questions - Why am I
writing ? What is it that I intend to share with others ? What purpose will my writing
serve ? Have I read enough about the topic or theme about which I am going to write ?
If one is hesitant to answer even one of the aforementioned questions, one better not
write at all! Because academic writing is a serious activity - it makes one part of a
shared community of readers and writers who wish to disseminate and learn from
well - argued pieces of writing.

3.  The Structure of an argumentative essay should take the form of - Introduction (Which
should be around ten percent of the entire essay), Body (it should constitute eighty
percent of the piece) and the Conclusion (again, ten percent of the essay). The
introduction should function as the hook which draws the reader in and holds his
attention, the body should include cogent and coherently linked paragraphs and the
conclusion should re - state the argument and offer a substantial ending to the piece.

Which word in para 1 means ‘Concisely” ?
(1) Perseverance

(2)  Skilful
(3) Carefully
(4) Incomparable

[Question ID = 153][Question Description = S10_English Content/Pedagogy_Q093]
1. 1 [Option ID = 609]
2. 2 [Option ID = 610]
3. 3 [Option ID = 611]
4. 4 [Option ID = 612]

4)



Read the passage given below and answer that follow by selecting the correct / most appropriate

option :

1.  The art of academic writing is not easy to master. It is a formal skill, which requires
precision and accuracy, and is perfected by continuous and dedicated practice. Academic
writing is the skillful exposition and explanation of an argument, which the writer has
carefully researched and developed over a sustained period of time. It is a time -
consuming activity and demands patience and perseverance. But the joy of reading
and sharing with others, one’s succinctly composed piece of argument, is incomparable.

2.  Before beginning to write, the writer must ask himself a few questions - Why am I
writing ? What is it that I intend to share with others ? What purpose will my writing
serve ? Have I read enough about the topic or theme about which I am going to write ?
If one is hesitant to answer even one of the aforementioned questions, one better not
write at all! Because academic writing is a serious activity - it makes one part of a
shared community of readers and writers who wish to disseminate and learn from
well - argued pieces of writing.

3.  The Structure of an argumentative essay should take the form of - Introduction (Which
should be around ten percent of the entire essay), Body (it should constitute eighty
percent of the piece) and the Conclusion (again, ten percent of the essay). The
introduction should function as the hook which draws the reader in and holds his
attention, the body should include cogent and coherently linked paragraphs and the
conclusion should re - state the argument and offer a substantial ending to the piece.

The most appropriate synonym for the word ‘disseminate” in para 2 is :
(1) propagate

(2) agitate

(3) circulate

(4)

[Question ID = 154][Question Description = S10_English Content/Pedagogy_Q094]
1. 1 [Option ID = 613]
2. 2 [Option ID = 614]
3. 3 [Option ID = 615]
4. 4 [Option ID = 616]

accumulate

5)



Read the passage given below and answer that follow by selecting the correct / most appropriate

option :

1.  The art of academic writing is not easy to master. It is a formal skill, which requires
precision and accuracy, and is perfected by continuous and dedicated practice. Academic
writing is the skillful exposition and explanation of an argument, which the writer has
carefully researched and developed over a sustained period of time. It is a time -
consuming activity and demands patience and perseverance. But the joy of reading
and sharing with others, one’s succinctly composed piece of argument, is incomparable.

2.  Before beginning to write, the writer must ask himself a few questions - Why am I
writing ? What is it that I intend to share with others ? What purpose will my writing
serve ? Have I read enough about the topic or theme about which I am going to write ?
If one is hesitant to answer even one of the aforementioned questions, one better not
write at all! Because academic writing is a serious activity - it makes one part of a
shared community of readers and writers who wish to disseminate and learn from
well - argued pieces of writing.

3.  The Structure of an argumentative essay should take the form of - Introduction (Which
should be around ten percent of the entire essay), Body (it should constitute eighty
percent of the piece) and the Conclusion (again, ten percent of the essay). The
introduction should function as the hook which draws the reader in and holds his
attention, the body should include cogent and coherently linked paragraphs and the
conclusion should re - state the argument and offer a substantial ending to the piece.

Read the following statements carefully :
A) - Academic writing is a skill that can be easily mastered.

B) - It requires careful research over short periods of time.

—

) Statement (A) is correct and Statement (B) is incorrect.

(
(
(
(2) Both statements (A) and (B) are incorrect.
(
(

A

Statement (A) is incorrect and statement (B) is correct.
4

)
N N N

Both statements (A) and (B) are correct

[Question ID = 155][Question Description = S10_English Content/Pedagogy_Q095]
1. 1 [Option ID = 617]
2. 2 [Option ID = 618]
3. 3 [Option ID = 619]
4. 4 [Option ID = 620]

6)



Read the passage given below and answer that follow by selecting the correct / most appropriate

option :

1.  The art of academic writing is not easy to master. It is a formal skill, which requires
precision and accuracy, and is perfected by continuous and dedicated practice. Academic
writing is the skillful exposition and explanation of an argument, which the writer has
carefully researched and developed over a sustained period of time. It is a time -
consuming activity and demands patience and perseverance. But the joy of reading
and sharing with others, one’s succinctly composed piece of argument, is incomparable.

2.  Before beginning to write, the writer must ask himself a few questions - Why am I
writing ? What is it that I intend to share with others ? What purpose will my writing
serve ? Have I read enough about the topic or theme about which I am going to write ?
If one is hesitant to answer even one of the aforementioned questions, one better not
write at all! Because academic writing is a serious activity - it makes one part of a
shared community of readers and writers who wish to disseminate and learn from
well - argued pieces of writing.

3.  The Structure of an argumentative essay should take the form of - Introduction (Which
should be around ten percent of the entire essay), Body (it should constitute eighty
percent of the piece) and the Conclusion (again, ten percent of the essay). The
introduction should function as the hook which draws the reader in and holds his
attention, the body should include cogent and coherently linked paragraphs and the
conclusion should re - state the argument and offer a substantial ending to the piece.

Which of the following statements is NOT true about academic writing ?
(1) Itis a formal skill

(

)
(3) Itrequires less time and patience
(4)

[Question ID = 156][Question Description = S10_English Content/Pedagogy_Q096]
1. 1 [Option ID = 621]
2. 2 [Option ID = 622]
3. 3 [Option ID = 623]
4. 4 [Option ID = 624]

It gives dual joys of reading and sharing

It is not easy to perfect

7)



Read the passage given below and answer that follow by selecting the correct / most appropriate

option :

1.  The art of academic writing is not easy to master. It is a formal skill, which requires
precision and accuracy, and is perfected by continuous and dedicated practice. Academic
writing is the skillful exposition and explanation of an argument, which the writer has
carefully researched and developed over a sustained period of time. It is a time -
consuming activity and demands patience and perseverance. But the joy of reading
and sharing with others, one’s succinctly composed piece of argument, is incomparable.

2.  Before beginning to write, the writer must ask himself a few questions - Why am I
writing ? What is it that I intend to share with others ? What purpose will my writing
serve ? Have I read enough about the topic or theme about which I am going to write ?
If one is hesitant to answer even one of the aforementioned questions, one better not
write at all! Because academic writing is a serious activity - it makes one part of a
shared community of readers and writers who wish to disseminate and learn from
well - argued pieces of writing.

3.  The Structure of an argumentative essay should take the form of - Introduction (Which
should be around ten percent of the entire essay), Body (it should constitute eighty
percent of the piece) and the Conclusion (again, ten percent of the essay). The
introduction should function as the hook which draws the reader in and holds his
attention, the body should include cogent and coherently linked paragraphs and the
conclusion should re - state the argument and offer a substantial ending to the piece.

The Body and Conclusion of an argumentative essay should be around.
(1) 90% of the Structure
(2) 10% of the Structure
(3) 80% of the Structure
(4) 20% of the Structure

[Question ID = 157][Question Description = S10_English Content/Pedagogy_Q097]
1. 1 [Option ID = 625]
2. 2 [Option ID = 626]
3. 3 [Option ID = 627]
4. 4[Option ID = 628]

8)



Read the passage given below and answer that follow by selecting the correct / most appropriate

option :

1.  The art of academic writing is not easy to master. It is a formal skill, which requires
precision and accuracy, and is perfected by continuous and dedicated practice. Academic
writing is the skillful exposition and explanation of an argument, which the writer has
carefully researched and developed over a sustained period of time. It is a time -
consuming activity and demands patience and perseverance. But the joy of reading
and sharing with others, one’s succinctly composed piece of argument, is incomparable.

2.  Before beginning to write, the writer must ask himself a few questions - Why am I
writing ? What is it that I intend to share with others ? What purpose will my writing
serve ? Have I read enough about the topic or theme about which I am going to write ?
If one is hesitant to answer even one of the aforementioned questions, one better not
write at all! Because academic writing is a serious activity - it makes one part of a
shared community of readers and writers who wish to disseminate and learn from
well - argued pieces of writing.

3.  The Structure of an argumentative essay should take the form of - Introduction (Which
should be around ten percent of the entire essay), Body (it should constitute eighty
percent of the piece) and the Conclusion (again, ten percent of the essay). The
introduction should function as the hook which draws the reader in and holds his
attention, the body should include cogent and coherently linked paragraphs and the
conclusion should re - state the argument and offer a substantial ending to the piece.

Read the following sentences carefully about the structure of an argumentative essay :
A) - Introduction should be eye catching and attractive.
B) - Body should be convincing and coherent.

C) - Conclusion should introduce new topics / themes.
) (B) is correct but (A) is incorrect

) Both (A) and (B) are Correct

) (A) is correct but (B) is incorrect

4) Both (A) and (C) are correct

[Question ID = 158][Question Description = S10_English Content/Pedagogy_Q098]

1. 1 [Option ID = 629]

2. 2 [Option ID = 630]

3. 3 [Option ID = 631]
4. 4 [Option ID = 632]

9)



Read the passage given below and answer that follow by selecting the correct / most appropriate

option :

1.  The art of academic writing is not easy to master. It is a formal skill, which requires
precision and accuracy, and is perfected by continuous and dedicated practice. Academic
writing is the skillful exposition and explanation of an argument, which the writer has
carefully researched and developed over a sustained period of time. It is a time -
consuming activity and demands patience and perseverance. But the joy of reading
and sharing with others, one’s succinctly composed piece of argument, is incomparable.

2.  Before beginning to write, the writer must ask himself a few questions - Why am I
writing ? What is it that I intend to share with others ? What purpose will my writing
serve ? Have I read enough about the topic or theme about which I am going to write ?
If one is hesitant to answer even one of the aforementioned questions, one better not
write at all! Because academic writing is a serious activity - it makes one part of a
shared community of readers and writers who wish to disseminate and learn from
well - argued pieces of writing.

3.  The Structure of an argumentative essay should take the form of - Introduction (Which
should be around ten percent of the entire essay), Body (it should constitute eighty
percent of the piece) and the Conclusion (again, ten percent of the essay). The
introduction should function as the hook which draws the reader in and holds his
attention, the body should include cogent and coherently linked paragraphs and the
conclusion should re - state the argument and offer a substantial ending to the piece.

Which of the following questions does a good writer keep in mind before writing ?
(1) Does he want to perfect his writing skills ?

(

)
(3) What does he want to share with the community ?
(4)

[Question ID = 159][Question Description = S10_English Content/Pedagogy_Q099]
1. 1 [Option ID = 633]
2. 2 [Option ID = 634]
3. 3 [Option ID = 635]
4. 4 [Option ID = 636]

Is it for his own personal satisfaction ?

Does he want to gain quick popularity ?

Topic:- ENG_Q100-105_L1_P2_CTET

1)



Read the stanzas given below and answer that follow by selecting the correct / most appropriate
option :

Tree at my window, window tree,

My sash is lowered when night comes on ;

But let there never be curtain drawn between you and me. - 3

Vague dream - head lifted out of the ground,
And thjng- next most diffuse to cloud ;

Not all your light tongues talking aloud could be profound. - 6

But tree, | have seen you taken and tossed,
And if you have seen me when I slept ;
You have seen me when I was taken and swept and all but lost. - 9

That day she put our heads together,
Fate and her imagination about her ;
Your head so much concerned with outer, mine with inner, weather. - 12

Which of the following statements is not true ?

(1) The tree has witnessed many storms.

(2) Fate brought the tree and the poet together.

(3) The poet is talking to the tree outside his window.
4)

(

[Question ID = 160][Question Description = S10_English Content/Pedagogy_Q100]
1. 1 [Option ID = 637]
2. 2 [Option ID = 638]
3. 3 [Option ID = 639]
4. 4 [Option ID = 640]

The poet is unconcerned about the tree.

2)



Read the stanzas given below and answer that follow by selecting the correct / most appropriate
option :

Tree at my window, window tree,

My sash is lowered when night comes on ;

But let there never be curtain drawn between you and me. - 3

Vague dream - head lifted out of the ground,
And thjng- next most diffuse to cloud ;

Not all your light tongues talking aloud could be profound. - 6

But tree, | have seen you taken and tossed,
And if you have seen me when I slept ;
You have seen me when I was taken and swept and all but lost. - 9

That day she put our heads together,
Fate and her imagination about her ;
Your head so much concerned with outer, mine with inner, weather. - 12

The word “weather” in the last line refers to :
(1) futuristic dreams

(2) emotional feelings

(3) health and wellness

4)

(

[Question ID = 161][Question Description = S10_English Content/Pedagogy_Q101]
1. 1 [Option ID = 641]
2. 2 [Option ID = 642]
3. 3 [Option ID = 643]
4. 4 [Option ID = 644]

materialistic desires

3)



Read the stanzas given below and answer that follow by selecting the correct / most appropriate
option :

Tree at my window, window tree,

My sash is lowered when night comes on ;

But let there never be curtain drawn between you and me. - 3

Vague dream - head lifted out of the ground,
And thjng- next most diffuse to cloud ;

Not all your light tongues talking aloud could be profound. - 6

But tree, | have seen you taken and tossed,
And if you have seen me when I slept ;
You have seen me when I was taken and swept and all but lost. - 9

That day she put our heads together,
Fate and her imagination about her ;
Your head so much concerned with outer, mine with inner, weather. - 12

Read the following statements carefully :
A) The tree is silent and resilient.
B) It is concerned with poet’s welfare.

ot

)

) (A) is correct, (B) is incorrect.
) Both (A) and (B) are correct.

) Both (A) and (B) are incorrect.
(4) (A) is incorrect, (B) is correct

(
(
(
(
(

=T

[Question ID = 162][Question Description = S10_English Content/Pedagogy_Q102]
1. 1 [Option ID = 645]
2. 2 [Option ID = 646]
3. 3 [Option ID = 647]
4. 4 [Option ID = 648]

4)



Read the stanzas given below and answer that follow by selecting the correct / most appropriate
option :

Tree at my window, window tree,

My sash is lowered when night comes on ;

But let there never be curtain drawn between you and me. - 3

Vague dream - head lifted out of the ground,
And thjng- next most diffuse to cloud ;

Not all your light tongues talking aloud could be profound. - 6

But tree, | have seen you taken and tossed,
And if you have seen me when I slept ;
You have seen me when I was taken and swept and all but lost. - 9

That day she put our heads together,
Fate and her imagination about her ;
Your head so much concerned with outer, mine with inner, weather. - 12

The phrase ‘taken and tossed” in stanza 3 implies :
(1) The tree has woken from slumber.

(2)
(3) The tree has been put to sleep
4)

( The tree has braved the weather

[Question ID = 163][Question Description = S10_English Content/Pedagogy_Q103]
1. 1 [Option ID = 649]
2. 2 [Option ID = 650]
3. 3 [Option ID = 651]
4. 4 [Option ID = 652]

The tree has been uprooted

5)



Read the stanzas given below and answer that follow by selecting the correct / most appropriate
option :

Tree at my window, window tree,

My sash is lowered when night comes on ;

But let there never be curtain drawn between you and me. - 3

Vague dream - head lifted out of the ground,
And thjng- next most diffuse to cloud ;
Not all your light tongues talking aloud could be profound. - 6

But tree, | have seen you taken and tossed,
And if you have seen me when I slept ;
You have seen me when I was taken and swept and all but lost. - 9

That day she put our heads together,
Fate and her imagination about her ;
Your head so much concerned with outer, mine with inner, weather. - 12

In line 4 “Vague dream-head lifted out of the ground’, the figure of speech used in the expression
‘dream-head’ is :

(1) simile

(2) personification
(3) repetition

(4) metaphor

[Question ID = 164][Question Description = S10_English Content/Pedagogy_Q104]
1. 1 [Option ID = 653]
2. 2 [Option ID = 654]
3. 3 [Option ID = 655]
4. 4 [Option ID = 656]

6)



Read the stanzas given below and answer that follow by selecting the correct / most appropriate
option :

Tree at my window, window tree,

My sash is lowered when night comes on ;

But let there never be curtain drawn between you and me. - 3

Vague dream - head lifted out of the ground,
And thjng- next most diffuse to cloud ;
Not all your light tongues talking aloud could be profound. - 6

But tree, | have seen you taken and tossed,
And if you have seen me when I slept ;
You have seen me when I was taken and swept and all but lost. - 9

That day she put our heads together,
Fate and her imagination about her ;
Your head so much concerned with outer, mine with inner, weather. - 12

Identify the figure of speech in the expression ‘light tongues’ in line 6.
(1) alliteration

(2)

(3) metaphor
(4)

metanomy

hyperbole

[Question ID = 165][Question Description = S10_English Content/Pedagogy_Q105]

1. 1 [Option ID = 657]
2. 2 [Option ID = 658]
3.

4. 4 [Option ID = 660]

3 [Option ID = 659]

Topic:- ENG_Q106-120_L1_P2_CTET

1)

‘Bilingualism” is the ability of the brain to :

(1) manage two languages subconsciously and negotiate various cultural contexts using
general cognitive abilities.

(2) manage two languages at will and negotiate many social and cultural contexts using
executive control.

(3) control operations in two languages comfortably.
(4) perform across social contexts with ease in two languages.

[Question ID = 166][Question Description = S10_English Content/Pedagogy_Q106]

1. 1 [Option ID = 661]
2. 2 [Option ID = 662]
3.

4. 4 [Option ID = 664]

3 [Option ID = 663]

2)



Language pedagogues have suggested that learners learn best when teachers scaffold

students learning until the students can do it themselves. Which among the following is

NOT a good tip for teaching vocabulary ?

(1) Change activities frequently.

(2) Keep learning and play separate in class

(3) Use appropriate activities (Like songs, puzzles, games, art, etc.) for different kinds
of student.

(4) Pay special attention to your own word use and pronunciation.

[Question ID = 167][Question Description = S10_English Content/Pedagogy_Q107]
1. 1 [Option ID = 665]
2. 2 [Option ID = 666]
3. 3 [Option ID = 667]
4. 4 [Option ID = 668]

3)

Which of the following statements do NOT pertain to challenges faced by learners in
listening practice ?

(1) I have trouble catching the actual sounds when I listen to the news in English.
(2) Ifind it difficult to respond to questions quickly.

(3) Ifind it difficult to keep up with all the information I am getting.

(4)

4 I can’t understand fast, natural native-sounding speech

[Question ID = 168][Question Description = S10_English Content/Pedagogy_Q108]
1. 1 [Option ID = 669]
2. 2 [Option ID = 670]
3. 3 [Option ID = 671]
4. 4 [Option ID = 672]

K Translanguaging

(1) challenges the notion of keeping languages separate in classrooms.
2) sees language as a "verb’ instead of an ‘adverb’.

(
(3) places the issue of translation at the center of language education.
(4)  shifts the focus from using English to using Indian languages in classrooms.

[Question ID = 169][Question Description = S10_English Content/Pedagogy_Q109]
1. 1 [Option ID = 673]
2. 2 [Option ID = 674]
3. 3 [Option ID = 675]
4. 4 [Option ID = 676]

® Which of the following is NOT TRUE of creativity ?

(1) Gives pleasure.

(2) Evokes fictional imaginative worlds.

(3) Encourages rote learning.

(4) Recreate the familiar worlds in new ways.
[Question ID = 170][Question Description = S10_English Content/Pedagogy_Q110]
. 1 [Option ID = 677]

1

2. 2 [Option ID = 678]
3. 3 [Option ID = 679]
4. 4 [Option ID = 680]



®) Which of the following is NOT TRUE of listening ?

(1) Listening happens in real time.

(2) The background noise in the recordings is a distraction.
(3) Speakers speak at a fast pace, sometimes.
(4) It depends on how fast you can read.

[Question ID = 171][Question Description = S10_English Content/Pedagogy_Q111]
1. 1 [Option ID = 681]
2. 2 [Option ID = 682]
3. 3 [Option ID = 683]
4. 4 [Option ID = 684]

"' Which of the following is NOT a concept from language education ?

(1) Connectives

(2) Six Thinking Hats.

(3) Pronouns.
)

(4

[Question ID = 172][Question Description = S10_English Content/Pedagogy_Q112]
1. 1 [Option ID = 685]
2. 2 [Option ID = 686]
3. 3 [Option ID = 687]
4. 4 [Option ID = 688]

Grammar-Translation method.

8)

Reading is

(1) to use what you know to understand what you don’t.

(2) making a hypothesis about the contents and functions of the text and following
your own ideas.

(3) a constant process of guessing, What one brings to the text is not as important as
what one finds in it.

(4) a constant process of guessing. What one brings to the text is more important than

what one finds in it.
[Question ID = 173][Question Description = S10_English Content/Pedagogy_Q113]
. 1 [Option ID = 689]
. 2 [Option ID = 690]

1
2

3. 3 [Option ID = 691]
4. 4 [Option ID = 692]

9)

‘I was teaching a grammar item, voice and tense the other day. I found this really good
text full of lots of examples. I pointed out the examples and explained the use of passives.
It appeared the students had understood. However, when I gave them practice activity,
very few could do it.” Suggestions for this teacher are provided below. Choose the one
that does NOT fit.

(1) It is possible that her approach to teaching grammar didn’t motivate the students.
2

(2)
(3) The level of the chosen text may not have been appropriate.
(4)

Work with students on their vocabulary.

Use simple explanations instead of long-winded and complex ones.

[Question ID = 174][Question Description = S10_English Content/Pedagogy_Q114]
1. 1 [Option ID = 693]



2. 2 [Option ID = 694]
3. 3 [Option ID = 695]
4. 4 [Option ID = 696]

10)

Lines 1-3 express two contrasting ideas of an argument in one sentence. Look for a
second sentence in the first paragraph which contains a contrast” This question is

(1)
(2)
(3)
(4)

checking factual reading,
checking inferential reading.
eliciting information.

checking a vocabulary concept.

[Question ID = 175][Question Description = S10_English Content/Pedagogy_Q115]

1
2
3.
4. 4 [Option ID = 700]

. 1 [Option ID = 697]
. 2 [Option ID = 698]

3 [Option ID = 699]

11)

‘Concept maps’

(1) are a way of mapping out the understanding of students.

(2) are a way of getting students to write on a particular topic and find references.
(3) involve producing a list of texts and internet sites on a specific topic

(4) are a way of mapping out a student’s understanding of a case study.

[Question ID = 176][Question Description = S10_English Content/Pedagogy_Q116]

1
2
3.
4. 4 [Option ID = 704]

. 1 [Option ID = 701]
. 2 [Option ID = 702]

3 [Option ID = 703]

12)

Which of the following statements regarding teaching grammar lessons is INCORRECT ?

(1)

(2)
(3)
(4)

Using listening for teaching grammar.

Using incorrect student language to talk about errors in speaking.
Creating mental images to make connections between words.
Using a paragraph instead of sentences for teaching.

[Question ID = 177][Question Description = S10_English Content/Pedagogy_Q117]

1
2
3.
4. 4 [Option ID = 708]

. 1 [Option ID = 705]
. 2 [Option ID = 706]

3 [Option ID = 707]

13)

Do mistakes matter ? Many people use imperfect language and yet they can make
themselves understood. Where do mistakes matter the most ? Choose the ODD ONE out.

(1)
(2)

When we are interacting with higher authorities in the domain of work, it's crucial
to use appropriate language.

Pronunciation teaching focuses on ensuring that students get the stress and
intonation right so that they are intelligible.

When we work on student’s accuracy, we work with them on correct use of language.

They do not matter much in writing as writ-ing is a skill that allows more errors
than other skills.



[Question ID = 178][Question Description = S10_English Content/Pedagogy_Q118]
1. 1 [Option ID = 709]
2. 2 [Option ID = 710]
3. 3 [Option ID = 711]
4. 4 [Option ID = 712]

" Which of the following is NOT a concept from language teaching ?

(1) Grammar translation method
2)
3) Contrastive analysis
4) Form and function

( Neural circuits
(
(

[Question ID = 179][Question Description = S10_English Content/Pedagogy_Q119]
1. 1 [Option ID = 713]
2. 2 [Option ID = 714]
3. 3 [Option ID = 715]
4. 4 [Option ID = 716]

) What is India’s language-in-education policy known as ?

(1) Mother tongue based multilingualism
(2) Three language formula

(3) New Education policy 2020
(4) Bilingualism

[Question ID = 180][Question Description = S10_English Content/Pedagogy_Q120]
1. 1 [Option ID = 717]
2. 2 [Option ID = 718]
3. 3 [Option ID = 719]
4. 4 [Option ID = 720]

Topic:- HIN_Q121-128_L2_P2_CTET

1)



faw wu eIty Wt eATUde ufeuw @em g T uye & fo wew Suged fasen & =
THITT |

-G | A Y 1 SUTHE @ 8 | e e sEe 9a swe! {9 e 5 @
qen = - FHaRT =1 Yewa 39 ST | Frera o are A W S9 F gfE 7 ST |
TaeH™ Ug—A&El ol Qe 1| Y= e 9 & qid H g -AeE i feafa agn i o faum |
I SEE T R S0 W €1 UE-FeTE i 9 ¥ Hew ugel SN T AW A g1 IR
Soifere we i ST el w1 e e TR el SR eryEl ST SIEuET Pl U Y Y
fen | 39 7y &1 AEYEE’ % A Y S S | 98 98T UY hed ol 9l a9ty uferd 91
Tl THhY vErh] | e ¥ 1 HEha o H W= 5 vy § i @R shfay w5 S gEen e @
forrert ==l anrs fova & Janfaer e @ &1 g vy =m uril | fafe &= yoia Smfes qedi
X ATt F

e el | € 9Rd § we-emi i Rt wen i % o # wait s R S @ 2
TEifehd 918 o T W 9HER fRa S gl @

(1) e

(2)  erfershi

(3) @™

(4) SEEA

[Question ID = 271][Question Description = S10_Hindi Content/Pedagogy_Q121]
1. 1 [Option ID = 1081]
2. 2 [Option ID = 1082]
3. 3 [Option ID = 1083]
4. 4 [Option ID = 1084]

2)



faw wu eIty Wt eATUde ufeuw @em g T uye & fo wew Suged fasen & =
THITT |

-G | A Y 1 SUTHE @ 8 | e e sEe 9a swe! {9 e 5 @
qen = - FHaRT =1 Yewa 39 ST | Frera o are A W S9 F gfE 7 ST |
TaeH™ Ug—A&El ol Qe 1| Y= e 9 & qid H g -AeE i feafa agn i o faum |
I SEE T R S0 W €1 UE-FeTE i 9 ¥ Hew ugel SN T AW A g1 IR
Soifere we i ST el w1 e e TR el SR eryEl ST SIEuET Pl U Y Y
fen | 39 7y &1 AEYEE’ % A Y S S | 98 98T UY hed ol 9l a9ty uferd 91
Tl THhY vErh] | e ¥ 1 HEha o H W= 5 vy § i @R shfay w5 S gEen e @
forrert ==l ans fova & Janfaer e @ &) g g = uril | faafem &= yofaen Smfes qedi
X ATt F

TE- A3 i o F & HayeH fomge 9 e § 7

(1) %
(2) THISH
(3) I H
(4) =RE H

[Question ID = 272][Question Description = S10_Hindi Content/Pedagogy Q122]
1. 1 [Option ID = 1085]
2. 2 [Option ID = 1086]
3. 3 [Option ID = 1087]
4. 4 [Option ID = 1088]

3)



faw wu eIty Wt eATUde ufeuw @em g T uye & fo wew Suged fasen & =
THITT |

-G | A Y 1 SUTHE @ 8 | e e sEe 9a swe! {9 e 5 @
qen = - FHaRT =1 Yewa 39 ST | Frera o are A W S9 F gfE 7 ST |
TaeH™ Ug—A&El ol Qe 1| Y= e 9 & qid H g -AeE i feafa agn i o faum |
I SEE T R S0 W €1 UE-FeTE i 9 ¥ Hew ugel SN T AW A g1 IR
Soifere we i ST el w1 e e TR el SR eryEl ST SIEuET Pl U Y Y
fen | 39 7y &1 AEYEE’ % A Y S S | 98 98T UY hed ol 9l a9ty uferd 91
Tl THhY vErh] | e ¥ 1 HEha o H W= 5 vy § i @R shfay w5 S gEen e @
forrert ==l anrs fova & Janfaer e @ &1 g vy =m uril | fafe &= yoia Smfes qedi
X ATt F

A9 gR Tofad g&e 8
(1) oY & fa=R

(2) AW

(3) 9 e Ay

(4) AR

[Question ID = 273][Question Description = S10_Hindi Content/Pedagogy Q123]
1. 1 [Option ID = 1089]
2. 2 [Option ID = 1090]
3. 3 [Option ID = 1091]
4. 4 [Option ID = 1092]

4)



faw wu eIty Wt eATUde ufeuw @em g T uye & fo wew Suged fasen & =
THITT |

-G | A Y 1 SUTHE @ 8 | e e sEe 9a swe! {9 e 5 @
qen = - FHaRT =1 Yewa 39 ST | Frera o are A W S9 F gfE 7 ST |
TaeH™ Ug—A&El ol Qe 1| Y= e 9 & qid H g -AeE i feafa agn i o faum |
I SEE T R S0 W €1 UE-FeTE i 9 ¥ Hew ugel SN T AW A g1 IR
Soifere we i ST el w1 e e TR el SR eryEl ST SIEuET Pl U Y Y
fen | 39 7y &1 AEYEE’ % A Y S S | 98 98T UY hed ol 9l a9ty uferd 91
Tl THEhY verehl | e B 1 HEha o H W 5 vy 1 i @i sfey w5 S gEen e @
forrert ==l ans fova & Janfaer e @ &) g g = uril | faafem &= yofaen Smfes qedi
X ATt F

e gr e vy H fra voires € 2
(1) < 5 Faed

(2) TF H THRY

(3) UFHTNE

(4) € SAAETE

[Question ID = 274][Question Description = S10_Hindi Content/Pedagogy Q124]
1. 1 [Option ID = 1093]
2. 2 [Option ID = 1094]
3. 3 [Option ID = 1095]
4. 4 [Option ID = 1096]
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faw wu eIty Wt eATUde ufeuw @em g T uye & fo wew Suged fasen & =
THITT |

-G | A Y 1 SUTHE @ 8 | e e sEe 9a swe! {9 e 5 @
qen = - FHaRT =1 Yewa 39 ST | Frera o are A W S9 F gfE 7 ST |
TaeH™ Ug—A&El ol Qe 1| Y= e 9 & qid H g -AeE i feafa agn i o faum |
I SEE T R S0 W €1 UE-FeTE i 9 ¥ Hew ugel SN T AW A g1 IR
Soifere we i ST el w1 e e TR el SR eryEl ST SIEuET Pl U Y Y
fen | 39 7y &1 AEYEE’ % A Y S S | 98 98T UY hed ol 9l a9ty uferd 91
Tl THEhY verehl | e B 1 HEha o H W 5 vy 1 i @i sfey w5 S gEen e @
forrert ==l ans fova & Janfaer e @ &) g g = uril | faafem &= yofaen Smfes qedi
X ATt F

A g W e 1 T & gaifid geemd €2
(1) Tfoe oA fomm

(2) fom oix fafman

(3) I iR s

(4) <oy ofR e

[Question ID = 275][Question Description = S10_Hindi Content/Pedagogy Q125]
1. 1 [Option ID = 1097]
2. 2 [Option ID = 1098]
3. 3 [Option ID = 1099]
4. 4 [Option ID = 1100]
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faw wu eIty Wt eATUde ufeuw @em g T uye & fo wew Suged fasen & =
THITT |

-G | A Y 1 SUTHE @ 8 | e e sEe 9a swe! {9 e 5 @
qen = - FHaRT =1 Yewa 39 ST | Frera o are A W S9 F gfE 7 ST |
TaeH™ Ug—A&El ol Qe 1| Y= e 9 & qid H g -AeE i feafa agn i o faum |
I SEE T R S0 W €1 UE-FeTE i 9 ¥ Hew ugel SN T AW A g1 IR
Soifere we i ST el w1 e e TR el SR eryEl ST SIEuET Pl U Y Y
fen | 39 7y &1 AEYEE’ % A Y S S | 98 98T UY hed ol 9l a9ty uferd 91
Tl THEhY verehl | e B 1 HEha o H W 5 vy 1 i @i sfey w5 S gEen e @
forrert ==l ans fova & Janfaer e @ &) g g = uril | faafem &= yofaen Smfes qedi
X ATt F

Arle it T F favear @

(1) =% ggka o o foret 78 §

(2) =9H < H Farey g §

(3) TEH aArfvR & I AR STIEUE 1 e ©

(4) =HH ¥R = feufq o1 HYS e T e S T

[Question ID = 276][Question Description = S10_Hindi Content/Pedagogy_Q126]
1. 1 [Option ID = 1101]
2. 2 [Option ID = 1102]
3. 3 [Option ID = 1103]
4. 4 [Option ID = 1104]
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faw wu eIty Wt eATUde ufeuw @em g T uye & fo wew Suged fasen & =
THITT |

-G | A Y 1 SUTHE @ 8 | e e sEe 9a swe! {9 e 5 @
qen = - FHaRT =1 Yewa 39 ST | Frera o are A W S9 F gfE 7 ST |
TaeH™ Ug—A&El ol Qe 1| Y= e 9 & qid H g -AeE i feafa agn i o faum |
I SEE T R S0 W €1 UE-FeTE i 9 ¥ Hew ugel SN T AW A g1 IR
Soifere we i ST el w1 e e TR el SR eryEl ST SIEuET Pl U Y Y
fen | 39 7y &1 AEYEE’ % A Y S S | 98 98T UY hed ol 9l a9ty uferd 91
Tl THEhY verehl | e B 1 HEha o H W 5 vy 1 i @i sfey w5 S gEen e @
forrert ==l ans fova & Janfaer e @ &) g g = uril | faafem &= yofaen Smfes qedi
X ATt F

‘AT’ S TatErEr §

(1) o4
(2) ¥
(3) ==
(4 =

[Question ID = 277][Question Description = S10_Hindi Content/Pedagogy Q127]
1. 1 [Option ID = 1105]
2. 2 [Option ID = 1106]
3. 3 [Option ID = 1107]
4. 4 [Option ID = 1108]
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faw wu eIty Wt eATUde ufeuw @em g T uye & fo wew Suged fasen & =
THITT |

-G | A Y 1 SUTHE @ 8 | e e sEe 9a swe! {9 e 5 @
qen = - FHaRT =1 Yewa 39 ST | Frera o are A W S9 F gfE 7 ST |
TaeH™ Ug—A&El ol Qe 1| Y= e 9 & qid H g -AeE i feafa agn i o faum |
I SEE T R S0 W €1 UE-FeTE i 9 ¥ Hew ugel SN T AW A g1 IR
Soifere we i ST el w1 e e TR Sl SR eryEl ST SEHuET Pl U 0 1 Y
e 39 4y &1 AN’ % A E S S 2 | 98 9o UY hed ol 9 a9y dfeRkd °1 U
Tl THEhY verehl | e B 1 HEha o H W 5 vy 1 i @i sfey w5 S gEen e @
forrert ==l ans fova & Janfaer e @ &) g g = uril | faafem &= yofaen Smfes qedi
X ATt F

gz ¥ s g g :
(1) T9% - q99

(2) E -

(3) e - faar

(4) YT - SR

[Question ID = 278][Question Description = S10_Hindi Content/Pedagogy Q128]
1. 1 [Option ID = 1109]
2. 2 [Option ID = 1110]
3. 3 [Option ID = 1111]
4. 4 [Option ID = 1112]

Topic:- HIN_Q129-135_L2_P2_CTET
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faw wu eIty Wt eATUde ufeuw @em g T uye & fo wew Suged fasen & =
THITT |

YA SiteH o Hfeaad T9F H ot Hieieh fhed 99 &1 39 75 done § 92 W1 &« foa #18
7 HE TN | Ted | wuarel e ges afierd g i o - ot R =S fae
0| 3R SR fae Sustll i Hew i, faaw Sed qEash i g 1 G & A
A ORI TR AR Y FAR H LT | 3 BE Ha shelel w4 He WA B AH S g1 AR
fored S erfer iRyl o S @ 9§ 3 3id 9k @l iR fem amme &g €1 a1 s
% Hifa H TR B T AT U Y qeh Siae WY % TA & 918 3@l | Qe S e |
SR % SR B S8 ST Shell o WA 1 Tl Tkt @Iet for o1 | SHl | 339 & 918 I8
T HeX 1 §F Gl Tl H & femn it Sudes sk i &R faepfaa € & fom oF &)
e T s7a dien g0 3 39 o et it Ueel fhed (Tt 3 Wid & faeer, ot I A @ e
39 fthen =1 S@H & 9% U A i resoll 7 ge W T S ST WEIE T a1 ead St
Tthen deisl SushTor @ S T |

THeTh i Teell e sA-Et o ?
(1) s ERe=s

(2) HSTH i

(3) T % Ui = famw

(4) HX H faemE

[Question ID = 279][Question Description = S10_Hindi Content/Pedagogy_Q129]
1. 1 [Option ID = 1113]
2. 2 [Option ID = 1114]
3. 3 [Option ID = 1115]
4. 4 [Option ID = 1116]
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faw wu eIty Wt eATUde ufeuw @em g T uye & fo wew Suged fasen & =
THITT |

YA SiteH o Hfeaad T9F H ot Hieieh fhed 99 &1 39 75 done § 92 W1 &« foa #18
7 HE TN | Ted | wuarel e ges afierd g i o - ot R =S fae
0| 3R SR fae Sustll i Hew i, faaw Sed qEash i g 1 G & A
A ORI TR AR Y FAR H LT | 3 BE Ha shelel w4 He WA B AH S g1 AR
fored S erfer iRyl o S @ 9§ 3 3id 9k @l iR fem amme &g €1 a1 s
% Hifa H TR B T AT U Y qeh Siae WY % TA & 918 3@l | Qe S e |
SR % SR B S8 ST Shell o WA 1 Tl Tkt @Iet for o1 | SHl | 339 & 918 I8
T HeX 1 §F Gl Tl H & femn it Sudes sk i &R faepfaa € & fom oF &)
e T s7a dien g0 3 39 o et it Ueel fhed (Tt 3 Wid & faeer, ot I A @ e
39 fthen =1 S@H & 9% U A i resoll 7 ge W T S ST WEIE T a1 ead St
Tthen deisl SushTor @ S T |

TSI S % OTH 69 1 SA9E A1 ¥ 919 Y e § 9 2t €2
(1) o =i = THa g

(2) I 3G oA @

(3) e @y Eg B T

(4) = I HIS faeRA

[Question ID = 280][Question Description = S10_Hindi Content/Pedagogy_Q130]
1. 1 [Option ID = 1117]
2. 2 [Option ID = 1118]
3. 3 [Option ID = 1119]
4. 4 [Option ID = 1120]
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faw wu eIty Wt eATUde ufeuw @em g T uye & fo wew Suged fasen & =
THITT |

YA SiteH o Hfeaad T9F H ot Hieieh fhed 99 &1 39 75 done § 92 W1 &« foa #18
7 HE TN | Ted | wuarel e ges afierd g i o - ot R =S fae
0| 3R SR fae Sustll i Hew i, faaw Sed qEash i g 1 G & A
A ORI TR AR Y FAR H LT | 3 BE Ha shelel w4 He WA B AH S g1 AR
Topet Sm @1feT i Wi o 92 e § 3! T ook ol iR faw ormert s €1 |
% Hifa H TR B T AT U Y qeh Siae WY % TA & 918 3@l | Qe S e |
SR % SR B S8 ST Shell o WA 1 Tl Tkt @Iet for o1 | SHl | 339 & 918 I8
T HeX 1 §F Gl Tl H & femn it Sudes sk i &R faepfaa € & fom oF &)
e T s7a dien g0 3 39 o et it Ueel fhed (Tt 3 Wid & faeer, ot I A @ e
39 fthen =1 S@H & 9% U A i resoll 7 ge W T S ST WEIE T a1 ead St
Tthen deisl SushTor @ S T |

S St ATEl % R F STeat i 8w an?

(1) WEmT i g g9H, gieRd g 3 R

(2) oFTAR feed T 3R AfE & wR

(3) TR WA H §e T 3R TE e H ok HRo
(4) OfeRTE g SR R WEE fae % SR

[Question ID = 281][Question Description = S10_Hindi Content/Pedagogy_Q131]
1. 1 [Option ID = 1121]
2. 2 [Option ID = 1122]
3. 3 [Option ID = 1123]
4. 4 [Option ID = 1124]

4)



faw wu eIty Wt eATUde ufeuw @em g T uye & fo wew Suged fasen & =
THITT |

YA SiteH o Hfeaad T9F H ot Hieieh fhed 99 &1 39 75 done § 92 W1 &« foa #18
7 HE TN | Ted | wuarel e ges afierd g i o - ot R =S fae
0| 3R SR fae Sustll i Hew i, faaw Sed qEash i g 1 G & A
A ORI TR AR Y FAR H LT | 3 BE Ha shelel w4 He WA B AH S g1 AR
Topet Sm @1feT i Wi o 92 e § 3! T ook ol iR faw ormert s €1 |
% Hifa H TR B T AT U Y qeh Siae WY % TA & 918 3@l | Qe S e |
SR % SR B S8 ST Shell o WA 1 Tl Tkt @Iet for o1 | SHl | 339 & 918 I8
T HeX 1 §F Gl Tl H & femn it Sudes sk i &R faepfaa € & fom oF &)
e T s7a dien g0 3 39 o et it Ueel fhed (Tt 3 Wid & faeer, ot I A @ e
39 fthen =1 S@H & 9% U A i resoll 7 ge W T S ST WEIE T a1 ead St
Tthen deisl SushTor @ S T |

e S e 19 = g WU 82

(1) e T SR ged -gH A 3 HE
(2) Kk We fheR S@H SR TEN T o HR0
(3) 3% AR I E T AT

(4) TR G STE! g S o6

[Question ID = 282][Question Description = S10_Hindi Content/Pedagogy_Q132]
1. 1 [Option ID = 1125]
2. 2 [Option ID = 1126]
3. 3 [Option ID = 1127]
4. 4 [Option ID = 1128]
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faw wu eIty Wt eATUde ufeuw @em g T uye & fo wew Suged fasen & =
THITT |

YA SiteH o Hfeaad T9F H ot Hieieh fhed 99 &1 39 75 done § 92 W1 &« foa #18
7 HE TN | Ted | wuarel e ges afierd g i o - ot R =S fae
0| 3R SR fae Sustll i Hew i, faaw Sed qEash i g 1 G & A
A ORI TR AR Y FAR H LT | 3 BE Ha shelel w4 He WA B AH S g1 AR
Topet Sm @1feT i Wi o 92 e § 3! T ook ol iR faw ormert s €1 |
% Hifa H TR B T AT U Y qeh Siae WY % TA & 918 3@l | Qe S e |
SR % SR B S8 ST Shell o WA 1 Tl Tkt @Iet for o1 | SHl | 339 & 918 I8
T HeX 1 §F Gl Tl H & femn it Sudes sk i &R faepfaa € & fom oF &)
e T s7a dien g0 3 39 o et it Ueel fhed (Tt 3 Wid & faeer, ot I A @ e
39 fthen =1 S@H & 9% U A i resoll 7 ge W T S ST WEIE T a1 ead St
Tthen deisl SushTor @ S T |

TRIETeh W ATSeRvT | SATS 9T S "W s o -
(1) T wam & 9%

(2) ©iET H ITHLI AT Feh

(3) weT | YR IR A Heh

(4) SER 1 EE 3eH % fou

[Question ID = 283][Question Description = S10_Hindi Content/Pedagogy_Q133]
1. 1 [Option ID = 1129]
2. 2 [Option ID = 1130]
3. 3 [Option ID = 1131]
4. 4 [Option ID = 1132]
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faw wu eIty Wt eATUde ufeuw @em g T uye & fo wew Suged fasen & =
THITT |

19 Sftae % Ffeaq o § off wers fheq a9 i 39 7% o 8 52 ®1 & o7 3
7 HE TN | Ted | wuarel e ges afierd g i o - ot R =S fae
0| 3R SR fae Sustll i Hew i, faaw Sed qEash i g 1 G & A
A ORI TR AR Y FAR H LT | 3 BE Ha shelel w4 He WA B AH S g1 AR
Topet Sm @1feT i Wi o 92 e § 3! T ook ol iR faw ormert s €1 |
% Hifa H TR B T AT U Y qeh Siae WY % TA & 918 3@l | Qe S e |
SR % B0 & 61 ST el o WE 1 Fel e @I foran o1 diEi ¥ 3 % 9 SeH
T HeX 1 §F Gl Tl H & femn it Sudes sk i &R faepfaa € & fom oF &)
e T s7a dien g0 3 39 o et it Ueel fhed (Tt 3 Wid & faeer, ot I A @ e
39 fthen =1 S@H & 9% U A i resoll 7 ge W T S ST WEIE T a1 ead St
Tthen deisl SushTor @ S T |

i '
SR wee § -
1) e |l
2) Al Hall
3)  SifdarEs 95
(4) EEATHS e
[Question ID = 284][Question Description = S10_Hindi Content/Pedagogy_Q134]
1. 1 [Option ID = 1133]
2. 2 [Option ID = 1134]

3. 3 [Option ID = 1135]
4. 4 [Option ID = 1136]
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faw wu eIty Wt eATUde ufeuw @em g T uye & fo wew Suged fasen & =
THITT |

YA SiteH o Hfeaad T9F H ot Hieieh fhed 99 &1 39 75 done § 92 W1 &« foa #18
T FE WA A | wed 9 Sare faemr gt afie g w6 i - o R w =S fae
M | B! e faeT SUsel ki He giedn, R ded gk ofi wEnT &t gt 1 iR
A ORI TR AR Y FAR H LT | 3 BE Ha shelel w4 He WA B AH S g1 AR
Topet Sm @1feT i Wi o 92 e § 3! T ook ol iR faw ormert s €1 |
% Hifa H TR B T AT U Y qeh Siae WY % TA & 918 3@l | Qe S e |
SR % SR B S8 ST Shell o WA 1 Tl Tkt @Iet for o1 | SHl | 339 & 918 I8
T HeX 1 §F Gl Tl H & femn it Sudes sk i &R faepfaa € & fom oF &)
e T s7a dien g0 3 39 o et it Ueel fhed (Tt 3 Wid & faeer, ot I A @ e
39 fthen =1 S@H & 9% U A i resoll 7 ge W T S ST WEIE T a1 ead St
Tthen deisl SushTor @ S T |

‘foerfaa " wreg | przeld
(1) e

(2) =

(3)

(4) ¥

[Question ID = 285][Question Description = S10_Hindi Content/Pedagogy_Q135]
1. 1 [Option ID = 1137]
2. 2 [Option ID = 1138]
3. 3 [Option ID = 1139]
4. 4 [Option ID = 1140]

Topic:- HIN_Q136-150_L2_P2_CTET

D oy s’ (ZrEEEfET) |

(1) s fafa & s fafedl & v o Hfwa

(2) T S Al e % w0 H S §

(3) e fven & g W o s % R 1 T S @
(4) oo SIferTy G & UHAWS % A oot €

[Question ID = 286][Question Description = S10_Hindi Content/Pedagogy Q136]
1. 1 [Option ID = 1141]
2. 2 [Option ID = 1142]
3. 3 [Option ID = 1143]
4. 4 [Option ID = 1144]



D FF-w e T e H EARTERl o w8 87
(1) sFTifem iR sweumeres foari & sdeafed &
(2) forenfeli & omran 1 W@ FE AR SHGT HT T UL HET
(3) T IR 3l W SR S
(4) faenfefi & goai W men ¥ e

[Question ID = 287][Question Description = S10_Hindi Content/Pedagogy Q137]
1. 1 [Option ID = 1145]
2. 2 [Option ID = 1146]
3. 3 [Option ID = 1147]
4. 4 [Option ID = 1148]
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[Question ID = 288][Question Description = S10_Hindi Content/Pedagogy_Q138]
1. 1 [Option ID = 1149]
2. 2 [Option ID = 1150]
3. 3 [Option ID = 1151]
4. 4 [Option ID = 1152]
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[Question ID = 289][Question Description = S10_Hindi Content/Pedagogy_Q139]
1. 1 [Option ID = 1153]
2. 2 [Option ID = 1154]
3. 3 [Option ID = 1155]
4. 4 [Option ID = 1156]
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[Question ID = 290][Question Description = S10_Hindi Content/Pedagogy_Q140]
1. 1 [Option ID = 1157]
2. 2 [Option ID = 1158]
3. 3 [Option ID = 1159]
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[Question ID = 291][Question Description = S10_Hindi Content/Pedagogy_Q141]
1. 1 [Option ID = 1161]
2. 2 [Option ID = 1162]
3. 3 [Option ID = 1163]
4. 4 [Option ID = 1164]
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[Question ID = 292][Question Description = S10_Hindi Content/Pedagogy Q142]
1. 1 [Option ID = 1165]
2. 2 [Option ID = 1166]
3. 3 [Option ID = 1167]
4. 4 [Option ID = 1168]
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[Question ID = 293][Question Description = S10_Hindi Content/Pedagogy Q143]
1. 1 [Option ID = 1169]
2. 2 [Option ID = 1170]
3. 3 [Option ID = 1171]
4. 4 [Option ID = 1172]
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[Question ID = 294][Question Description = S10_Hindi Content/Pedagogy_Q144]
1. 1 [Option ID = 1173]
2. 2 [Option ID = 1174]

3. 3 [Option ID = 1175]
4. 4 [Option ID = 1176]
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[Question ID = 295][Question Description = S10_Hindi Content/Pedagogy_Q145]
1. 1 [Option ID = 1177]
2. 2 [Option ID = 1178]
3. 3 [Option ID = 1179]
4. 4 [Option ID = 1180]
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[Question ID = 296][Question Description = S10_Hindi Content/Pedagogy_Q146]
1. 1 [Option ID = 1181]
2. 2 [Option ID = 1182]
3. 3 [Option ID = 1183]
4. 4 [Option ID = 1184]
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[Question ID = 297][Question Description = S10_Hindi Content/Pedagogy Q147]
1. 1 [Option ID = 1185]
2. 2 [Option ID = 1186]



3. 3 [Option ID = 1187]
4. 4 [Option ID = 1188]
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[Question ID = 298][Question Description = S10_Hindi Content/Pedagogy_Q148]
1. 1 [Option ID = 1189]
2. 2 [Option ID = 1190]
3. 3 [Option ID = 1191]
4. 4 [Option ID = 1192]
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[Question ID = 299][Question Description = S10_Hindi Content/Pedagogy_Q149]
1. 1 [Option ID = 1193]
2. 2 [Option ID = 1194]
3. 3 [Option ID = 1195]
4. 4 [Option ID = 1196]
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[Question ID = 300][Question Description = S10_Hindi Content/Pedagogy_Q150]
1. 1 [Option ID = 1197]
2. 2 [Option ID = 1198]
3. 3 [Option ID = 1199]
4. 4 [Option ID = 1200]






